[ L ] L

d1s Ydiel Ufeuna Ioo1ddl eq Cfdelfeit Ued ...

2ledrdrel fareret 100

——— ¥{q: 2024-25 ——

SIJoirils Heol & celdia
QR CODE whd i

BRI &Y foid2lh Thel forelT, T& &aipT, 4% (251

(% scanned with OKEN Scanner



) THeoTs BRI - agaaﬁ»ﬁaﬁﬁzﬁmfaa % HaTmaT, 7 <4
oreararct e - 100 aefgefes

~— amm rmr— iy~

e T fiig aIAE. tiuR St MEiT wEEE™ .3, Fega Tt q3ALfE, e
e 78 () T3, we (fe) (T, 7%) frz (¥rw)

PRITT: S foiderd Thel frell, T& waiPT, I (e131.)




https://t.me/ShekhawatiMission100

JrEare firsra-100 | : 2024-25

Ue9—UF HI IIoT=T 2024—2025

PET — XI1I
g — 1o
arafer — 3 goar 15 @9 1e guUTich— 80
1. Iy B IHPIR—
.. Gﬂé?ﬂ AHIN EIEI?IL!
1. | s 24 30
2 SGOIE 24 30
3 ﬁlﬁlq?illl 16 20
4 SAN| 8 10
5 ICEGLEMN] ] 10
I {0 100
3. g9 & UhR IR FHHR—
HH.| Ul BT UBR | U Bl | F B ok | ufaera gferera | v
AT gt (s7epT @T) (=it MY
g &1)
1. RIS IREEE 18 1 18 22.5 33.96 36
2 ]ém—\nm:f 0 1 0 T 11.32 15
3. afﬁqﬂt‘!\mﬂ;ﬂ-{r_n 12 I 12 15.0 22.64 42
4. STE[XINTHD 10 = 20 25.0 18.87 40
5. @tiajﬂflwch 4 3 12 15.0 7.55 32
6. IBEEIEE 3 4 12 15.0 5.66 30
AT 53 80 100.00 100.00 195
e
fheg Iioi=T : @wos ¥ Ud ' | © |
3. fae a3 FT FFHR—
. o I 3THHN gferera
1 TR Ud Weld 3 375
2 | ufaamsm Heorfafa waa 4 5.00
3 ﬁfi{!b‘ 5 6.25
4 | 9RUreh 5 6.25
5 | Hidd Uq 3{dhal-1ddl 8 10.00
6 | TddboAd & JAJUAN 6 7.50
7 | HHIBAA 12 15.00
8 | OHTH ATl & AN 4 5.00
9 ATHA THTHIU] 6 7.50
10 | Hfeer 9rsiora 7 8.75
11 | =99 gt 9 11.25
12 | 3R9 U 4 5.00
13 | Hildepd] 7 8.75
e 80 100

G Scanned with OKEN Scanner



https://t.me/ShekhawatiMission100

2024-25

HA :

o
S
5

U-U3 <G 2024—2025

[ ¢
D&l —XII CLEE “I___w_m A 3115 m_& YUllch—80
HE. | W Bkl 3qaTEl ST CaN faveryor qn
- 3(2)
4 W+ I 2(1)
2 |t mﬂ% A(3)
Hol 1(1) 1(1) 2(1)
3 |dMi<ge (1) 1) 1) i 5@)
4 Mu_._d.m..w_ln—m 1| 1(l) (1) AL 4)
A U4 8(6)
5 mﬂ_m_uﬂ_%ﬁmq I(1) 2(1) 1(1) 2(1) 1(2)
EEEEES 10 o)
mﬂﬁ% 1(1) 1(1) 2(1)
7 | HHIDelA (1) 21) 1(1) 3| £0) 1(1) 12(6)
m. u_:_mmm_u__ mw I Itr) 33y
E.%_% 2(1)
9 | IGHA FHPIT | 1)) (1) (1) 111 5@
10 | afRe o 1(1) ' 1) 1) 1) 1) 7(6)
11| B S 1(1) (1) 3(1) PNEC
12 .M.._w_m.wdm m___w_m.u._ 4°(1) 4(1)
H_v_u._. LOC10Y (T | 42 3(1) 2(2y 1 5(5) ___.:__ 6l3) i a2 L &ty | 2 0 1 | oA | s(3) |31 4(d) (1) 402) A0 BO(53)
LEDIE 24020) 24(14) 16(11) 8(5) 8(3) 80(53)

faseal @ Ao — W W TE T H UAE A 0B AaRF fAvey § Ne—oISs B e B GRS AP B R AR P W= TE P Aad ¢ |

T8 « filc daar Afed ued = &1 8, 91 &1 73 7 fAuiRa rgas+ 16 3@ AeHER & 8F |

G Scanned with OKEN Scanner



https://t.me/ShekhawatiMission100

HA : 2024-25

Y — 1
gAY Ud el
JPHAR (1+2=23)

A =g & W =d (1,2,3,4} % R={(1,2),(2,2).
(1,1),(4,4),(1,3),(3.3),(3,2)) )T gR\T ST R B |
f=foRad # & 98 IR gFU |

(1) R e a1 9AfAd 8 fbhg s 7181 2 |

(2) R e AT HshHS = fdbg FaAd 81 7 |

(3) R G998 @1 Gha & fod Wded T8l 2 |

(4) R Y& qogdl I & |

(1,23 § R={(1.1)(2,2)(3,3)(1,2)(2,3)) Ans.

ERT 9&d A 87

(h¥Eded  (2)@aAa (3) H@hid  (4) Teadr

R ¥ R ¥ qRIRT o/ # & S9a1 Berd (aa] g—
(1) F(x) = x| (2) F(x) =cos x

(3) F(x)=¢" (4) F(x)=x’
=g A= {1,2,3,4} 94 W a5 G Tbd! Bl Dl
a1 B —

()3 (2)4 (3)8 (4)6

IR ={(X,y): x, yez, X’ +y’ <4} Udh G & T4
R &T 9= 81T —

(1) {0, 1§ (2) {-2,-1,0, 1,2}

(3) 12,-2] (4) {0, 1,2}

afd A={1,2,3) 8 d 3qagq (1,2) 9rel JoIdl Geell Bl
Gl B—

(1)1 (2) 2 (3)3 (4) 4

qE AT fF f RS R, f(x)=x' ERT alRfiw 2
HEl SR BT I DI |

(1) f TP AWEDH & (2) f 9EUD ATDED &

(3) f Udhad! & foq om=Bes el &

(4) f 70l Tha! & 3R ¥ ATBESD B

-: Answer :-

1-2, 2-1, 3-3, 4-1, 5-4, 6-2, 7-4

8.

9.

10.

11,

Ans.

Az {1,2,3) ¥ (1,2)TAT (2, 1) Bl Jf<ifdse B dled

TR 1.2 s n} A WI 9% FHE ATVED

g T f& aafds &Rl © 99=9d g H
R={(ﬂ?b]:a£bz},mqﬁ‘ﬂfﬁﬁ?ﬁfﬂ R, & Al W
g, - 9Ad g AR 7 & GhHS |

ST 8, 4= R= d<fAd IRl &1 G =

@ R={a,b):a<h’}

1 (1Y
WJed ey & forg, 89 oiFd = (& EE(—] g el

2
g |

[ 1
— (E:EJERW: R. € G &l B |
T e @ fo, S O & 16 —1<32 = (-13)eR
oAb 3<(-1)>

= (3.-1)¢R A R |AMT HeI FEI 2 |

e ikl & forg, 89 S 8 i 2 < (—-3) . (2.-3)eR
@I (-3)<(1)

~(=3.1)eR ©fdT 2<1? - (21)g R 3 R TP AhHS
Hee T8l 2 |

f(x)=4x+3 ERI¥Gd HBe1 [ :R—> R R AR AR |
frg IfGT & f gopaofim g1 f &1 9fdell Berd Sd

DINT |

®ad f:R—> R H f(x)=4x+3,YxeR

g1 gRIRT Hed 2 |

HqE oiNlT x,yeR SAUBR & T f(x)= f(¥)

= 4x+3=4y+3

= =)

:. f UDD! Heid B |

q9 WOy & dRdfdd 9 yeR & folt p ¥,

ye R =9 yopKR faemm= 2 &
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y—3

f(x)=y=24x+3=y=>x=

4

-3
- 9g®% yeR & foru .r=}4

f(x)= f[zj] - 4[%3] +3=y

-, f ATBEH B & | AT f T D! ATVBEDH Bl & |
S f fagmE 2| 5[ AT g R RH,

ceR IR 1%

Sd:

X
g(x)= 1

12. g DIRIT & f(x)=[x] ERT Yad HEdH QUi HeiA
f:R—> R, A Thd! & AR 7 WSS ®, Siel [x],x

HH IT ISP xR HEqH YUl Bl HwfUd Bl & |

ZRT gRTIfa 2|

Ans. %l f:R—> RH, f(x)=[x].VxeR
ST aRATT Bed &, 918l [x].x & B4 IJ1 S S¥ER
HEaq UId B & |
9 f(1,2)=[1,2]=1
£(1,9)=[19]=1
f(1,.2)=f(1,9)=1 of$T 12212
f Uha! Bold Tl 2|

U9 07eRD iU RH BIF xc RSH UBR 81 & &
f(x)=0.7 JAq [x]=0.7

-, f ATEBIEDH BeAT el ¢ |
3 HEGH UIT Beld A dl Ul & 7 2l ATDVEH ¢ |

13. g IR & ¥z 4={xeZ 0<x<12}, ¥ AU
Ty fAefeiRad Geel R H 9 U@ Ud dodal e 2 |

(i) R={a,b):|a-b|4 & T 2}
Ans. fear g A={erz{]£x£lZ}

11,12}

,,,,,,,

(i) R={(a.b):|a-b|,4 =1 Toret 2

qfd TAB ge A @ oW |a—al=0, S f& 4 & oS
T | ofd R Eded GeY € 39, Al iy

(@.b)e R=|a-b|4 BT IS 2|

= |~(b—a),4 BT U B |

= |b-al4 & T B |
=% (E:-_,_a]s RN¥a,beR

14

Sol.

15.

Sol.
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3 R AT ey 2 | 34, "I oIS (a,6),(b,c)e R,
a9 |a—c| T®T |b—c| 4EI§‘IUTGI%I la—c|, 4 DI
gl ..(a,c)eR

. R, Gh¥P HEY B | A R, U Joddl Hed 7 |

R1g ®IRT f& f(x)=|x| A9 Bed f- R R 9l
THd! & 3R 9 ATBEH ¢ |

(i) Tbat f(x)=|x|
7| = 1 [= 1 a8 =l
R —1=#1

f ! el & |

(1) ATWIEH f(x)=|x|= g-dTHD HI

AT R & EUTeAS Al &1 gd gfafew R+ fagmm™ [
g |

— f JA=BIEH 8l T |

I f ¥ @ Tl & AR 7 ABEH ¢ |

g9 ofiffsit f& A=R-{3) @71 B=R- {1} 2|

g -2
t(x){i_J ST GRATRG BT £:A > B W RER

PINTT | T £ Thop! AT IATTBEh o7
TPl = A £ (x) = £(y)

Xx—-2 y-2
= x—3:y—3
= (y-3)(x-2)=(x-3)(y-2)
= yX-2y-3x+6=Xxy-2x-3y+6
= 2y -3x=-2x - 3y
=> X=y
Ia: fUdDl g
AMWIedh — HM f(X)=y
X -2
— x_3=)"
= yi{x-3)=(x-2)
= Xy-X=3y-2
= Xty ~1)= 3¢ -2
3y-2
= y—1 =X
srafRvifya 8rm afe y=1,
wB=R={1} %

31T Bl IATTVTED ¢ |

G Scanned with OKEN Scanner



1 =1
1. cot I[ﬁ] HT I 74 § —

https://t.me/ShekhawatiMission100
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JPAR (1+1+1+1=4)

Ans.cos'x bl =& #9 = |0, =]

] 131‘[} -1 T
COS COS—— | = COS CcoS| 2+ —
6 6

HA : 2024-25

2n T T 27 Ans. 'sin"'(-x)=-sin"'x, sin'x PI HTI HIA
=[_£ E}
2 sin[g—sin‘l(—%n FT HF - 2 2
f ] | 2 _|]. T
1 1 1 Sin (—EJZ—SIH E:_E
)= 2) — 3= 4) 1
3 @5 ¢y @
1
= =1 L cos | —— |= ...
3. tan™ +/3 —cot (—ﬁ) H1 A9 & 8 [ «EJ
i 1 1
(1) = 2) =5 (3)0 4) 2.3 Ans. .- cos™ (=x) =z —cos ™' x. cos~! x BT T&IH =0, 7]
4. sin(tan_' x],|:~:|-::1 IR BT B— cos”| __.1_. =ﬂ-_mg-1_1_
1 2 V2
X
T = i) :
( ) 1—.1"2 ( ) I—IH :}I—EZB—H
4 4
1 X l
) J1+ x2 (4) 1+ x2 9 gfe sin(sin_lg+cn5_lx]=1 AT K=
5. sim'x=y dl i
= - Ans sin(sin_lg+cns_l szl
() 0<y<nm (2) —EEYEE |
o o —sin” —+cos” x=sin"'1
(3) O<y<m (4) _E{Y{E 5
: _11 ] _ﬂ' - .ﬁ."_
=>sIn —+C0s x=—|sin—=1
-: Answer :- 5 2
1-1, 2-4, 3-2, 4-4, 5-2 1 7, SNl |
—>C0S X=—-—SIn —
Rea e & gfif afore— - .
1 1371 :}Cﬂs_]xzcns_]l_ [‘.'sin_'x-i-ms_'x:iJ
6  COS cns? = 3 2

1
= X=—
5
o] [ 2 ) I 1
sin”® | 2xv1—-x ):25111 X, XE|———,
0. g w0 sin” &%
Sol. HMMT x =sinH = 0=sin"'x
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12.

Ans.

13

Ans.
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sin™! (2m/1— x> ) = sin™! (2sin 0+/1—sin> e)

= sin”'(2sinBcos0) [ | —sin” 0 = cos” E}:|

= sin”'(sin20)
= 20
= 2sin”'x

b/ a4
Sin_lx el EMHlﬂ = _E::E

: _,(. 3x o K [ 3.?:] il 231']
S.sin” | sin— |=sin" | sin| # —— | [=sin" | sin— |=
5 3 L 5

'l
cot ktan_' a+cot” a)= ____________________

S o Y T
cntktan a+cot a —CDIE

. by 1.
{.tan X+ cot I—EJ

={

tan~' (1) + cos™ = +sin”’ - T
2 2

tan™ (I)+ cos™ (—lj +sin” (—lJ
2 2

:tan_1(1)+|:ﬂ_cns_l Gﬂ{_m_] [ﬁéﬂ

{ sin”' (=x)=—sin" x }

cos  (—x)=7m—cos™ x

-5

T 2n m 3m+8rm-2x 9m 3w

1 73 6 12 12 4

g 2 a7
tan —+t@an — BT A o,

11 24 o

Ans. tan”

1

11 24

[ tan~' x+ tan” y= tan"'[x+yJ}
1—xy

2 7
—+tan —=1tan

[ 48577 |
2 264
=1
an _i
| 264
125 ] 125
_ 264 ool FOM.. i)
= fan 264 —14 tan @ tan{
264 264
15. X T |19 31 B —
1- 1
tan™ }{:—tan"]}{j (x>0)
l+x 2
_1].—"}'{ -1
Sol. — 2tan =tan~ X
1+x
=)
tan™ I+x 5 =tan~' x
=5 1_(1—:{}
] Xy |

— tan”" {

2(1-x)(1+ x)

i tan”! \/( l—cos x
. theld

l+cos x

il
(1+xf-(1-xf}mn :

. E<xan

HA : 2024-25
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tan™ I-cos x = = 11~~—sin'{~lu] { sin"lx+cﬂs_[x=3}
gd— 1+ cos x 412 3 2
9 A -1 oooa) 2
3 ( }{\‘_ - ECDS 5 [DDS X =SIn [—J(l—}{ ]]]
1-1+2sin” =
tan™' J 2 , 1
= 3 X 2
1+2¢cos" —=1 2 o 1
_ —sin < [x1-| = >
{ \ 2 /I_ = 4 \j{ [2] }
o X s
y 2sIn S _ Esin'H 9 1}
tan 4 9
— + X \
\ZCDS“E
B B - Esin_].; ﬂ
2 " 4 H 3
sin‘E _|
tan™' 2 X|_X (/2
= x | = tan {tan—-—— 3y _ Esm-‘ —2 =R HS
cos o 2| 2 =7 i - HS.
17. fig BRI - 14. Rig BINT -
tan‘](xﬁ)—lﬂns_] I-x x €[0,1] tan™ l +tan™ l]+’[E’m"1 1J+’[ﬂn'1 l =
9 1+x )’ -*' 5 T 3 8/ 4
Toi— RHS lmg—] I-x gad— LHS lt:ﬁm'i[*l—]#[an'1 [£J+tan'][l]+tan'](£}
gol— RAES % 1+ x T 5 7 3 5

EIC T x=tan 0 &I tan9=\/; A1 than"l(\/;)

Lo
—COS
2

lu:r:-ﬂ‘E (cos26)

l—tan” 0
1+tan” 0

2
— lKZB
2
= @
_ tan-l(&)= LHS.
18. g @ifviv —
ot 9 . _;[1] 9 .
— = —5In — | = —8In
8 4 3) 4
; g_ﬂ_gsin_][l]
£d— LHS. 2 A

4
(1.1 1.1
tan"| 27 |4tan!| 38
= — 1 l_l}{l
. 5x7) \ 3 8)
(T7+5) ((8+3 )
canct| 35 oo 24
— 0 e (W Y e
L 35 . 24 )
(6 11 )
ool 17723 |_,oo138+187
= ~ 6x1] 391 — 66
" 17x23)
_ e | =ty = E=RHS
325
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Y — 3

Afgay

JAPAR (1+1+1+2=5)

o ]2 B=[-1 2. 3] -: Answer :-
L » 7 ® T [AB] Al Bt PHiC B 208545 50, 645 753,9-2,9-4
gefi? UP 2 x 2AqTGE A= [a,] DI I DIVY
(1x1 (2)3x3 (3)3x2 (4)2x3 i+ )
aft o Afyaw Ave T Afyew & o Mfyam A+ar 100 T€ g, = ¥ W g
grft —
(1) et A (2) fowss el AFAE Ans A 2 % 2 BT A A=E“ :”‘}
(3) G aur fawd S (4) S99 | DI A8 a e
afd AU I 3MMYE 396 UBR & fb A2=Adl (2+A)- s (i+))°
7A TR & — 2
(A 2)1-A (3)1 (4) 3A (50 ) R ()
afe ATl B WA SIfe & Fafid arege @ df AB-BA =, TR g Ty
Cdh — 9
(1) I ATE (2) TAfAa anmege T TP =5 gy =9
(3) fows @affd emege  (4) ToaFS ATE [ 5 %'

e cosa —SIing T A= g
s = sing cosa | TN A+ A=]. BT o B W 8 J

6 9
#1H I 1. 3R A=, 3] oIt
)z n Z 3 gj £ _
(]6 ()3 (3) = ()2 B{ztﬁo%a}rAB
= R
AT A TAT B USH TR & gabd &I dad afe — 7 8
» —RA= 6 92 6 0

(1) AB = BA (2) AB=BA=0 . AB:L 3]{? ) 3]
(3)AB=0, BA=1 (4) AB=BA=1

| i (12463 36+81 0+72
A A=), | MIIRERD 2y = (4421 12427 0+24
(1) 1+a*+ By =0 (2) 1-a”+By=0 75 117 ?2]
(3) 1-a*-Br=0 4) 1+a*-By=0 ~ 125 39 24

e ATa T iR fawmaeia 1 €1 3Tegg & al - X
(DATS fdB0l g 81 (2)AUS I YT & | 12. afe ?{Jﬂ’
(3)ATS T ATHE 21  (4) T A DIy =l

-1 10
]{5} Al XxTUT y$ A4 T4

Aregel H URad @ U & AR W AT fAHe 3 W;

I DIINTC— Ans, T8I x[3]+ y

(1) (AB) =B' A (2) (A+B)' = A+B'

(3) (KA) =KA' (581 K ®Is =R & |) _ FK}[_Y}:FO]
(4) (AB) =A'B 3x y <
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2x-y | |10
B [3“3}{5}
=5 0% - =0 (1)
IREYWE Nesmvmonmvonss (2)
FHIHIT (1) (2) Bl 8 HRA WX
=4 yed

I 5
13. g ot & rgs A=L ?] & forT (A+A) TP
AT 3rTgE B |

HA : 2024-25

(X +2 |
[:x; -5 —1] 9 =]
_2:{+3_

[x2+2x-45-2x-3]=0
[x* - 48] = [0]
x2-48=0

x2 = 48

x=i4\/§

3 3

Sol. &7 WM & f& (A+A!) arege wAfad et @ afy A+ 1> WgAzL _J PT TS T IMHE T TF v

A)=A+A!
g8l LHS (A + A!)

L]
[& 31 5T
[ 31 3]
HEE

2 11
3. (A+A‘):L] 14 ------------------ ()
l 1 5 +1 6] [2 11
RES{A+A)S e 21T e 21711 14
2 11
(A+A')= 11 14| soeeererens (2)
FHIARUT (1) T (2) ¥ W 2 fd A+ A U GHAT 18
2|
1 0 2][x]
14, IIT?:T[K_E -1]10 2 1|4 =0 2 5 x &1 79 =19
2 0 3|1
HITTY |
1 0 2][x]
5n1.ag"?["‘5 ~1]{0 2 1|[4]|=0
2 0 3|1

AT ATGE & AT & ®Y H ST DI |

“A—35 A1—31
Ans. J&1 . |5 _q

AT P=o(A+A)

16 6 3 3
P=— —

216 =2 3 -1

3 3 NEE
P= =S =

3 -1 3 -1

3T P=%(A+AI) Udh FHMAT e 2 |

@ A=P+Q
ard: Higed Al gafAd qur fovq |9fHd & arehd &
I | gad fhar <1 G&dr g |
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16. arifds Srggdl arel fodl aFf argg A& forv g
ST fb A+ A' GAAT 3ATge © U1 A - A! fagq Ans. ‘422‘4‘4:[
AR ATgE B
Ans. g &1 & —
(i) (A+A') TS GHMAT 3TYE = A (A+A)' = A+
&
(ii) (A+A!) U fawn @HfAd amege 2 3i=diq (A+Al)!
=-(A+A"
gel (A+A) = Al+ (AY)
= A'+A {--(A") = A}
AT (A+A)Y =A"+ A
Id A+ A 9T B
Jag (A-A)!= A'-(AY) = A'-A
(A=A ) = ~{h- )
I (A-A') TS faww wafAa g 2 |
[cosx —sinx 0]
17. afe F(x)=|sinx cosx 0| g ar fag +fSv
| 0 0 L
F(x).F(y)=F(x+y)
Ans. F(y) @ foT x & =M W y W@ T S GBR
F(x+y) @ folt x & M ® x+y 39|
EIR I
cosx -sinx O cosy -siny 0]
F(x).F(y)=|smx cosx Ofsny cosy 0
0 0 1 O 0 1l
[ cosxcosy—sinxsiny —cosysiny—sinxcosy 0]
g7 F(x)F(y)=|sinxcosy+cosxsiny —sinxsiny+cosxcosy 0
I 0 0 1]
c.cos(A+ B)=cosAcosB-sin Asin B
s.sin(A+ B)=smn Acos B+ cos Asin B}
[ cos(x+y -—sin(x+y) O]
a7 F(x).F(y)=|sin(x+y) cos(x+y) O
0 0 k]
qdl F(x).F(y)=F(x+ y)
3 -2 1 0
18. afd A=[4 _2} SRl I{U J Vd A2 =k A-2I

gl k Bl A Sd PIfoiT |
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5 2
4 -2

i

3
4

-2
-2
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AE__Q—S —6+4
DT 0w8 B

AE__I =2
q;M Ty LAY =k.A-2I

('t —2] |3 —2] 1 0
== =& -2

4 -4] |4 -2] (0 1

1 -2 [3% -2%] [2 O
— = -

4 -4 |4k -2k| |0 -2
:}'1 -2] [3k-2 -2k

4 -4| | 4k -2k-2

A AT D VEH §RT GHF Y D G Aggdl
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dy acost = dx 213
= de meoitk fant
sint
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HA : 2024-25

AT — 6
Jddelol & ATUINT

APAR (1+1+2+2=6)

. T 1I0mBea @ SR SR H 34 M/h D R¥W g qeafs Ga@Rl & =98 R R Had ¢ EH....

g RTS8 R Y A B TS Bl gy R B g |
(1) 1 m/h (2)0.1 m/h Ans, IR AT
(3) 1.1 m/s (4) 0.5m/h 9. T4l argd @l o g xj:—irzﬁ a¥ 9 He Vel g aul el
2. tEHY [Ugj H BT & }’-,.2%26’[ X | 93 @I & 79 39 gRfEe H uRad..
(1) -sin x (2) cos 2 x -1
(3)cos 3 x (4) tan x Ans. =2 cm/ min
3. o ga @ Bl r=6cm W rd W fwe § Rada 10 TR S ==[x+1[43 T f(x) BT AT 7 ...
(1) 107 2) 127 Ans. feam a1 oo g(x)=—|x+1[+3
(3) 87 4) 117 & OTd € f6 8% xeR & fo0, [x+1120

— YD yeR @ 00, —|x+1<0
— AP xe R D ol —|x+1|+3<3
g | JzddHd HiA ?[‘fﬁ @Tﬁﬁﬂﬂ il xdd»ddl

4. T HIs Hod g [ H fAReax | g8 afe

X;,X, €l T x, <x, dd—

(1) f(x;)<f(x,) (2) f(x,)21(x,) ST |x+1j=0 A y=_]
(3) f(x,)<f(x;) (4) £(x,)>1(x,) AU |x+1=0=>x=-1
- ﬁaﬂﬂﬁw(ﬂﬁj N s & P FTaaH HM =g(-1)=-1+1|+3=3
2 11. U gd P B3ar 07 9 /Jdvs 9 R A 9fE & <&@
(1) cos x (2) s x 2, 99 g & gRE § gRade & e ... BN
(3) cos 3x (4) tan x Ans, oM ST W (f) R ga 9 B 4 R R s
6. fawafaferd savral & @ few oavra # aRkfer ¢ B
F(x)=x"" +sinx—1 BRI 9ad ®ald f ETHAT 27 = e=2a
i R o B =22 (3 e e
(1) (0.1) (2) [E“‘TJ H | dt dt
HYA IR, @ 749 gR)
(3)(0%] (4) T & P T o, & P A ofis A R B
-: Answer :- o dr _ 07
o, 20, 39 43,81, 64 B A
LW (0= <347 B Y R g 2 © 22207 /A ur W/ (=07
Ans. x==1 4 /9, fear B)
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-3 oRfe 951 9fg o R 147 THI /9 B

12. 1€ DIfST f{}{):}f—:’,}{z +4}{3}15Rq1’ﬁ?'_¢|‘i’a'ﬁﬁr'_'l

13.

Ans.

14

B 27
Rl

f(x)=x" —3x" +4x

f'(x)=3x" —6x+4

f'(x)=3(x>-2x+1)

f'(x)=3(x-1)" +1

Udd xeR T (x-1)*20
3(x-1)*>0
3(x-1)>+1>0

3 £ A=Y EEE Bord 81T |

Favrel [15] H f(x)=2x° —15x> +36x+1 ERT ¥ed
Bhod & fAvue S=aan 3N fAvver J=ad 9H1 a1 17

PIFTT |
g4 I1d 2
f(x)=2x" —15x" +36x +1

T f'(x)=6x° —30x+36=6(x—3)(x—2)

&I SIT f'(x)=0 | y=2 3R x=3 T T 2|
3719 g9 g4 fa=gail 3R 3fevrat [1,5] & 3icy famgaii sreria
x=1x=2x=3 3R x=5 W [ 79 & IRGAT
I | 39

f(H=2(1")-15(1")+36(1)+1=24

£(2)=2(2")-15(2*)+36(2)+1=29

£(3)=2(3°)-15(3%) +36(3) +1=28

£(5)=2(5>)=15(5%) +36(5) +1=56
=¥ UK, B9 epY IR ugErd ® b SNt [1,5] R e
[ U x=5 9= FRUeT I=gaH A9 56 3R x=1 W

fRUe fre=aq 9 24 £ |
3eRT SiTd Biforg iS4 f(x) =sinx+cosx,0<x <27

ENI Ued Bl f RIFM 91 ENEE & |

HA : 2024-25

Ans. 3d & b

I3

16.

f(x)=sinx+cosx,0<x<2rx
gl f'(x)=cosx—sinx
h Y4

9 f'(x)=0¥ sinx=cosx [ordd BH Iz%aT

UTd Bl 8| Aifd 0<x<2x

foeg :f=— A x=22 1 " it [0.27] B AR sregaa

ITRTA], AT {Dz][j?’f} 3R (5;:-2??} Y fongemy
P T |

«—i } —>

0 il !f_t in

&g qioig & f'(x)>0 3fe IE[UEJU[%’IQI}

31 IR (0?5] AR (S—H 2:’?} q BdAd f ®©EE

4 4
g |

AR f'(x)<0, Afg IE(Z 5:}

T Sr
4° 4

fe@rsy & ggd weq

Eﬂﬁfaﬁ?ﬁ'[[ ]ﬁaﬁqﬂﬁél

f(x)=3x"-6x+4
=3(x? = 2x+1)+1
=3(x=1) +1>0, @ xcR & forQ

SAfeIT A9 f,R TR A & |

g€ 9T & 9ed B9 f(x) =cosx
(a)(0,7) ¥ BTG99 &

(b)(r27) # T 8

(c)(027) H 9 O T iR 9 8 eNHE § |
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Ans. &IF QoY f&  f'(x) =—sinx

574

Ans.

—o0

18.

(a) b I8P xe(0,7) & U sinx>0, TA UM & &
f'(x)<0 3R g (0,7) 5 f B9 & |

(b) Ffd YAP xe(7r.27) & T sinx<0. T U B
f& f1(x)>0 3R @Y (7,27) § f FHE B
(c) SR (a) AR (b)) W & b (027) & fa
M & 3R 7 & gFE B

d RIS ST BITY OFH f(x) = 4x° — 637 = 72x + 30
ERI Ued Bed [ (a) ®HH (b) EHH €|

TEf
f(x)=4x" —6x" =72x+30

T f'(x)=12x" -12x-72

= 12(x* - x-6)

=12(x-3)(x+2)

gl f'(x)=0 ¥ x=-23 U@ ad e8| x=-2 3R

x=3 drdfdd Y@l &I dF JEgad AR, AT

(- ,2),(-2,3) 3R (3,0) H fvad ol & (FREER)

€

Ans.

+ | .
-2 k) +00
aRTAl (- 0,-2) 3R (3,0) H f'(x) TATHD © SialD
FRA (-23) H f'(x) RITHD 8| Bold®y Hel
f ISl (- 00,-2) 3 (3,00) H FEHA & el eI
(-2.3) # B B € QU f,R IR |9 A 9EHH
g 3N 9 g e B |

T &1 A ST ST, eaT I 24 € @R e

% J=aad 8l |

A9 ¥ Ugel BH o1 91 x 3R (24 -x) dFd © v g4
y=x(24-x) AFA & 3@ Jddbold BT JGIANT Db

ST O ST H B |
HF ST Ugall 6T x 8, O §ON &l (24 - x) B

(-- QI AR HT I 24 )
e y & AIYE BT [UHEGS DI AT & al

19,

Ans.

HA : 2024-25

y= 1(24 —.r)= 24x—x°
x D \ATUET AdPHIT B TR,

d’y

Y _24-2x aiR dxf=-2

dy \

e
o — =0 @ R
— 24-2x=0
L x=12

d’y

x=12'W, —g==2<l
Safely SR &1 UFGA STdd BRI S G0

x=12 B3R 24 -12 =12 AU FET 12 3R 12
2

Rig DI f& Bem f(I)=lﬂg|CDSI|[Uj%J H R

BTEHA 3R [%ﬂ') H fR=R e 2 |
fear 8, f(x)=log(cosx)

[

COS X

— f(x)=
P )

(—sinx)=—tanx (x & AT AT

| AN
AT [UE]’}L tan x > 0

( tanx HH EI_g,"t’—TiLi’T = %)
e (-~ tanx 9IH ﬂﬂaﬁsﬂ H %)

—tanx <0

(Ug} 5, f'(x)<0

T
37! (D?E] q f =R gT9HE

- jr .
379 3fRTA (E’E] " tanx <0

— —=tanx >0

(-- tanx facita =genier & &)
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Ans.

https://t.me/ShekhawatiMission100

Rig e f& Bo= f(:f)=lﬂgsinx?[0%} # fAv=ax

T 3R (%ﬂ] H R g™ B |

fear &, £(x) = log(sinx) 22,
JS'(x)= ,1 (cosx)=cotx
sin x
(x @ ATUET AAPH A B UX)
Ans
3TN (U:%th f(x)=cotx>0

ﬁﬁs cot x Wﬂgﬂﬁﬁﬂﬁmﬁﬁfﬂ%l

[Dg] ¥ £ PRwR A 2

: T :
3Tl (E:H] H f'(x)=cotx<0

RSP oty fadd TGATI H ZRITHS 2 |

" T —
T RS RER T B

AT ST difoie fo=H ffeiRad wew f ARaR @& 23

= a1 BN B

(1) f(x)=x"+2x+5 (i) f(x)=10-6x-2x"

X= -1 TS T B Q) A (oo 1) W (<1 =) F Ronfem vl B

s

-

e fgwmfg | 1(x & wpl
(=eo, = 1) - Ve e e
(=1,e0) +ve et s
I W x> - 1780 f{x) Prdew wh @ v Ow e -1, W () PR wreer B
(i = e £(x) =10 - 6x - 2¢°
= Fix)=0-6-2-2x=~6-4x
{x) = 0 YO WY,
_3
6= dxm( ax-?
34
A arfte v 9 2 m[_.,-ﬁ]m(-l-]ﬁfamﬁamm
2 2
2
s r(x) & Mg | 7(x) & wpl
[""—'g) -ve friaw o
3
(hi'"] -ve Préae gremm
24,

'm.n-gtmumwamn-gmfmma

(i) 7T AT
f1(x)=2x+2=0

Ans.

HA : 2024-25

f(xX)=x"+2x+5
(x @ ATUE ATHAT B IR

f'(x)=0 @1 ],

= 2x=-2,x=-1

U NI Sl Fad TR V&l &, DI a1 aiRacd-eiet
& | Frsar & |mne smgad & uRads 1 &R | Sifog
o9 3 10 @ 2|

. "M Sy & MareR [ER o B3 » IR Smga

B
T, r=10 O AR V=§?ﬂ*'3
s , @ 9der Ar¥agd o gfRadd & e%

dv (4 J ,

—=| —7x [3r

dr 3

=4m° =47(10)> =4007
(- r =10 )

I AR BT ATIAT 4007 HHI /FHI DI <R | 98 Y&
g |

(P O] Dl x IHISTI & IAIGA A HaRld Hel odla

c(x) (B9 #H) ¢(x)=0.007x> =0.003x> +15x + 4000

dyed T |

AHEd ANTd SITd DI, Wefd 17 SHIT] &I SdTeA
forar T 8

AT ST UROTH & FIUT el oFTd & YRIA &l oX

B

(r @ AU ATHAT PR W)

. d
At AT =<
dt

de =0.007(3x*)-0.003(2x) +15=0.021x* —0.006x +15

dt
SE x =17, AT AT =0.021(17)% - 0.006(17) +15

=0.021(289)-0.006(17)* +16

=6.069+0.102+15
= 20.967

3T SI9 17 SISl BT IAred fhar a1 g o AEid

oITd 20967 B9 & |
Rig PG f(x)=sinx ¥ ¥ad B+
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Ans.
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(i) U%} 7 AR b= 2

N T
(11) (E
(iii) (0,7) ¥ 9 o MM 3R 7 & E_FAH 2|

fear a1 B[ f(x)=sinx T
x & AU JTHAd P U,

H} # Aoy graeE

f'(x)=cosx

T
(i) 31T TP IE[D:E} & T cosx>0

(. cosx M ITAT H IAHSD ©)
Fiix)>0

g, [ogj # FRER T 2

T
(i) 3T, TAD IE[;H]E% fTT cosx< 0

(-.cosx fada Tqie # g1 =)
f'(x)<0

safery, f(Eﬂ'J

(i) 518 xe(0,7) &9 <& & fdb [O%J 5 '(x)>0

3R [%:HJ q f'(x)<0

AT f'(x),(0,7) ¥ &M 3R RS B
saferlv (0,7) H f(x) ar @eMHE 8 3R 9 8 A

=

Uh 3Md I 18 x5 S /el RAgecE 2
IR AeE y4 I /fAFe & R ¥ 98 W 2 99

x=89HI 3R y=694 &, a9 3Fd & (a) YRHATY (b)
gAhe © RTdT DI S S DI |

26.

A9 oiifoi 6 fFa 999 | 9=, I1ad oI o=, TS, AT

gAY iR &% HH: x,p,P AR 4 B T4
P=2(x+y) 3R A=xy
4

HA : 2024-25

ATTd HI URAY = 2(a€1Es + dlSR) AR &3%hd =
TS x diels

gz fegr 2 & %=-Sﬂ“ﬂ/ﬁﬁ€

(- ve fore gofaT ® f oIS ue @) ?)
dy

E=4?}Fﬂ/ﬁ|ﬁ€

(a) 39, P=2(x+y)
{ D FIUE IdPhold B UY,

dP dx d
dt dt di

=2(-5+4) ¥ /fFe = ¥ /fAeie

(.-.ﬁ=—5&ﬁ=4]
dt

3R

dt

37, 3T BT YRAMY 2 T /e I R A °E (- ve [TT)
el 2|

(b) TET, ATIT BT &IABHA A=xy
{h ATUET 3ddheld hed N,

dA d dx
ST & TR B IR =X+ y
dt dt dt

§=8x4+6x(—5)

.*.£=—5&£=4
dt dt

~32-30=294r/fA"e
3, IAMTT BT &TFA 2 W /e AR A WBWEI 2|
Are— Ifq uRadd & SR 9@ &I &, a1 89 (+ ve &%) oid
g 3R afe gRac &1 <X = 381 & A1 89 (- ve I°8) ol
=

fa=forRag o 0 wol & S=aaq a1 =gy 99, afe

Pl 8l dl, ST BT |
f(x)={x+2]-1

faar T e f(x) = x+2|-1
A SMAd & & 9P xe R @ oG, [x+220

AT, U&F xe R @ 1T, f(x)=/x+2|-1=>-1
f BT =G| A9 1 STd fhar ST Al 8 519 | x+ 2= 0
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27. Wt f(x)=sinx +cosx xe[0,n] &I FRUegT S==Eaq 9

28.

rETaTer fHera-100
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AT |x+2|=0>x=-2
s fPIATH HE = f(-2)5-2+2|-1=0-1=-1

ZAleTY, f(x) &1 gATH AIF —1 8 odfhd x =2 W DI

J=IdH A T8l 2

favuer ff=ag 919 3a B¢

gol— f(X)=sInX+cosx

= f'(x)=cosx—sinx
f'(x) =0 cosx-sinx=10

cCOsSX=sInX

tanx =1
i

—e|0,
1 10, m]

AT x=0W f(0)=sin0+cos 0=1

. f E}—sinﬁwmsi
A W 44

e

x=nt W f(n)=sinn+cosn=-1

e e fi=as 79 = —
U8 S==aq 99 = o

U RTINS U9 P fHaRT 3 cm/sec DI €3 T 93 &
T U9 3gaq 9 ¥ 9 9% Y81 € 9idfdh fHRT 10 cm

SicI
gol— 9 Pl THART ({SI) = 10 HHI.

= x=1{cm
dx 3cm
a2l =
dt sec
g9 BT ATTAT V = x3
t $ GTUeT 3Pl HYd IR
dV dx
0, O 08 Mo
dt dt
3
%Y _310)2x3= 900"

dt sec

S€C

24,

30.

HA : 2024-25

U R Sl Had MATHR I8l & DI B gRaa=eita
g | froar & ame Imrgas @ gRadH &) R 3Td Hifoiy
o9 f3rsar 10 9. 87

gol— TMeldR TER il BZr x =

4
TN BI ATIT V=§ﬂr3

10 cm

dv

r & {IUe 3Tdhold HYd WX E—-’-im

3T MATHR AR BT ATIT
cm

Vel E |
3T ST DIfoTT OTH WerF f(x) =sinx +cosx AR=R

29T & Siel x e(m,27n) B°

gcol— f(x)=sinx +cosx

f'(x)=cosx—sinx

= f(x)=0 W cosx-sinx=0
= tanx =1
St
— X=—¢€(m.2n
1 (m,2m)
- +
| 5—“: 27T
4
S
AR | T & a5 x=210" W
£'(210)" =cos 210—sin 210
_i+———ive
2
=) ) -
Sd: Al (E?J ff Weold [Audx Bl EﬁTnl
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STy — 7
AHIh el

APAR (1+1+1+2+3+4=12)

1.
- 1+ x
_[1 sm}{dh st 3
COS" .
(1)tanx - sec X + ¢ (2)tan x + sec X + ¢ (I)0 {2)5
(3)-tanx +secx+x (4) none of these oex Aloes
@08 _E_-n{:lg:'..
b ? Jlogx 2logx d}{ %?
jcnsecz— ¢ =8
dx
SEEJE A A % (1]}{+1+C
. t  m (3) x2+x+c¢
(1) —cntE—}{+c (2) iy cnt5—3{+c ] _fe“secx(1+tanx)dx 5
(3) 2 cnti—x+c (4) 2::0’[3—}{+c (1) e*cosx+c
2 2 (2) e*sinx+c¢
d .. 3 x
E]=4x"— = qerm £(2)=0 79 f(x) & ©) e*secx +e
X X (4) e*tanx +c¢
(1) x* + 13 e (2) x° + 14 +129 10. IEDSE 2% (x: a7
X 8 X 8
1 129 L i
(3) X" + = . (4) None of these (1) 2 R
X
1 .
dx (3) X+—sm4dx+c¢
?
Ix+xiﬂgx T AT B 8
dx
(1) (1+logx)+c (2) log,, (1+logx)+c 11 = BT A 27
\/9:!{—4}{‘
(3) log . (1+logx)+c (4) log . (logx)+c 1 -
E_
1 ~ (1] —Ssin” [ J+c
: 1+ x-Xx"
] 8x—-9
. (3] —sin”' 5 +C
M1 @0 B-1 @
12,

(x’ + xcosx + tan” x + 1)dx 3

|'\--||nI '—‘lldlﬁ

(I)o (2) 2

BE B
3 3 (4) 7

HA : 2024-25

3) = 4

By @
2£+x+c

(2) 5

(4] 2x X+ ¢

2 E+lsiru=l:ar.:+4t:
(2) 2 4

x 1 .
(4) E——Sln4x+c

8

lSII'I. (9}{_8]4-!3
(4) 3 .

fla+b-x)=f(x) @@ |xf(x)dx ¥

a+b

(1)

(3

jf{a+b+c}d}. (2)

a+b

jf(x}dh

a+b

(4) jf{‘h{)d&:
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15,
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jlng1{] x dx &7 919 8°?

(2)

(1)xlog x - x+c

L
X

(3) log, 10(xlogx—x+c)
(4) log,,e(xlogx —x)+c
jlngx x dx &1 71 87
(1)1

(2] xtg

(2)0
(4) c

jsin x'dx ¥¥IEN 27

180 2 180 0
(1) —cosXx™ +c (2) —Tcnsx
T

——COSX+C
(3) -~

180 .
(4) ———cosx" +c¢
i

-: Answer key :-
1-1, 2-3, 3-1, 4-3, 5-2, 6-4, 7-3, 8-2, 9-3, 10-1, 11-2,
12-2, 13-4, 14-3, 15-4

Raa I &1 gfd difsu—

1.

2.

.1
HelF K“(l- 3] B GHTHAA. ...

g |

X

g |

jsec:{(sec:{—tan X)X HT A

3

j’xldx &1 M. T

-

afe ¢ Te R wem & e [ f(0dx=

Hul

jtan" X

dx=_ ... T

j(%)dx BT Ao B

WX

j- dx

. 7 2
sin” 2X cos™ 2Xx

HA : 2024-25

9 j'S"“gS”‘dx BT A, B
X
10, |[—=dx & AM........ B
1+ x°
SIN X
dx
11, I(l+ca5x)2 BT A o B
aTIxHIl] - —
}{3
1. ?—:{+c
2. fan x—secx+c
; 19
' 3
4. 0
T[E
B —
32
6. log2
]
7. E[’[HH 2x—cot2x]+C AT log(cosecdx - cotdx)+C
o
Q. §x3+{f
1
g —-——+C
X
It 1+ x*
10. > ﬂg( +X )+c
1
1.1, +C
1+ cosx

AT RIHD YT -—
1

1.

. 5 4 =
jsm XCcos X dX o7 A9 ST B |
-1

gol.— Jal f(}{}zsinﬁ}{cm*x 2 Sl fd fdvH %ot 2|

Ad—d=0

IZIZEDSK—SS{H}{dx B .
6cosx +4sinx

e I_IECDS}{—3SiH}{dK
' 6bcosx +4sinx

HIAT 3cosx +2sinx =1t

(-=3sinx +2cosx)dx = dt

G Scanned with OKEN Scanner
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IrEmaTe fora-100 O : 2024-25

dt sin” x dx
[=|= 6. f

21 1+ cosx

1 _ 2
[=—log(t)+c — j{l cos” x)dx

2 1+ cosx
I:l!ng(3msx+25inx)+c I(]_CDS 2L casx) dx

2 l+c:::5:{)

I:jms(sin“f x)dx &1 919 8°? _ I{I—CDSK)dK
gcl— HIMl gin'x=0
= x=5in0 T o590 =+1-x> ,

7 j.:!ni‘:'*e’i dx

I:jcns[cﬂs_iﬁJdK gol— HIMT x* =t
I=I(ﬁ)dx o lIEL di=>e 4

—

X —SINX +C

2 i
=3 3x dx =t 3 7
X 2 1 .3 =k 3
[=|—~1-Xx +Esm X+C _ lex'+c
3
=2
f.m 8. f —d‘*i BT A ST BRI?
dx NA
[= dx Ve
A= jx/;[1+x/;] Sol. l_.[l
I I=2:lng:~;]gﬁ

dx = dt
AT 1+\/;=t GE! o

[=2[log2 - 1ng(1)]

{

[=2[—
It [=2log+2-0
[=2logt+c [=log2
=2log(1++/x)+¢

dx
9. [—= wam ¥
EH_EJ X

I_Il—msxdﬁ
l+cosx
I=j dx
y. o X 1
jZSm % get: € ——
1= dx ¢
Bt 2 cos? = e*dx
2 l:J. 2x ].
e +
:Itanzgd}{ HFET e* =t D e"dx=dt
, X 1= [
=I Sec‘g—l dx t"+1
= tan"'(t)+c
- 2tan§—:~;+c = tan"'(e*)+c
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10. tanx dx

g~ = [log sec x|¢

= lug[sccg} - Ing(scc U)

=lng(\5)— log(1)

]
=—log 2
5 g

TSN JTT—

ISIH }{

J1— x2
gol— HAIM sin~' x =t

1 dx =dt

dx

_[ sec”
- \/tan x+4

gel— HIMT tanx =t
sec” dx = dt

dt
e
=h:1+'g_t+ﬂ~~!t‘:'r +4J+c

= log tanx+-\.ftan3+4J+c

[— J- xe“dx

(::r.:+1)2
“I(K+]_l

h+1)
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=Ie" b e l?d:{

_1‘{+1 (x+1)

g3 — [ [f(x)+f'(x) Jdx =e*f(x) +c

X

¢
aa— I= +C
1+ x
i =
I=Ixe"_dx

0
gol— AT x* =t = 2x dx =dt
AJd x=0 W t=0 A x=1 G¥ t=

11
I=Ejet dt

=E[c—l]+c

[
sin” x dx

Bol— El-l'll}{ Udr HH Wbl %|

3ad— I=2]sin” x +x

= M e | H

.
l=2f[1_cﬂ52}{de
. 2
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AT yF—

dx
I ‘H“ilﬂ”)?’l"l_[\/i A ‘.5{2 Sy Eﬁll?ﬂq—

dx

Bk I:j\/S—élx—xl

dx

Izj.\/—[}{z +4}{—5]

I:j dx
\/-[f+4x—5+4-ﬂ

dx

IZIJ-ﬁx+2f-9]

dx
| =
I\/Q—(X+2)E

I=sin"](x;2]+C

dx
j(e‘ _1) BT 79 ST BRI?

I"‘_[ xExd‘}{

e (e"—l)

AT ¢" =t @ e dx =dt

dt
Iz-[t(t—l)

HA : 2024-25

SR
1 =573
[=—log f %+C
2x— (4=
2 | 2 2]
t—1]

[=log| — |+ C
““‘{ 3

lzhjng[1E :l]+C
v

— 9 AT B! Aifers A= gRT M) 81 IR Adhd B |

Xsin~' X

eEICIo jmdx B TA BIfTT—

o L= 1 dx
1—-x~
HIAT gin~'x =
1
= dx=dt qg x =gint

Vv1-x*

ard: jt sint dt

[ =tx [—mst)—_f(lx—cnst]dt

|=—-tcost+sint+c

[=—J/1-X"sin"' X+ X+c¢

J- SIn X

. dx
siIn(x—a)

X—a=1

= dx =dt

I_J-sin(t+a) d
sint
-sintcosa +costsina

= . dt
. sint

| = -(cns:a +sinacot t)dt

[ =tcosa+sinalogsint+c
[=(x—-a)cosa+smalogsin(x—a)+c

I =xcosa+sinlogsin(x —a)+c,

vIgl ¢, =c—acosa
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4 [= (log2-log3)-(log1-log2)
!"“”d" ST BT [= 2log2 - log 3
[=log4-log3
4 —(x-=1) x
ga— [Ix=1ldx  [x-1j= 1 1
0 (x—1) x _— l=lng§
! 4
a— 1) = [=(x=D)dx + [ (x ~1)dx cos2x dx 1
0 : 7 f 2 DI HIH AT PRI7
(cosx +sIinXx)
2 R i 4
X X d
fi= [ _KH + ——:{J B cos 2x dx
{ - o L2 ! S0k HII L= J.(4:::':5:5{+sin::~{)3
i 3. i
I=—|:[l—lJ_[}}+ (2_4]_(1_1J} [= J‘(CDS X SI]-'I Kld}(
2 \ 2 2 (cosX+sInx)”
I:l+|:4+l}:5 l: J-(cnsx+51'n:{) {c_:nsxz—sinx)
2 (COSX +sInXx)
L I(msx—sinx)dx
2 [= :
Iz_[ o ms; ——dx BT AE TG A7 (COsX +5INX)
0 FEnX)a-Hsx) HTAT cosx +sin X =t
" — (-sin X + cos x) dx = dt
2
Sol. AT 1= | cosx dx T i
o (I+snx)(2 +sinx) t
AT sinx =t [=logt+ec
3. cos x dx=dt [ =log(cosx +sinx)+c¢
gfe x=0T9d t=0
_7 _ L
X = - dd t=1 j’ i
| 8. i+ Jeotx @ A BN
_[ dt 3
3d: 1=
EIi{l+t) (2+1) y
i =i # faaiforg a9 ) I=_i dx
l A " B Rl {El+'\fﬂﬂ’[}{
(1+t)(2+t) (A+t) (2+1)
= 1= A(2+t)+B(1 +t) [mji R o — I«
t=-11R [A=] LVsinx +4cotx T FHIGRT (1)
t=-2W [B=-1 f’ \
P, [UREIH oM WX
1
1 1
T — - dt L
e '{[[(1'”] (2+t)i| l“j. \J/COS X i
1 - A/COSX ++/sinx FHIER (2)
[= [log(1+t)—log(2+1)], s
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FHIHRT (1) + FTHIDT (2) 5 —

= f(l)dx

| P,
3 6
) [
6
:::r[=1
12

=T s 999 —

I

X tan! X BT GHIHoA SITd DIToI0 |

2ol —HME I = j:{tan"] dx

Iztan‘]}{xi—[ : Kx‘] dx

2 1+x* 2
x* .4 lyxidx
[=—tan" ——| —
2 29 x° +1
2 2
Iz}i—’[ﬁm‘]—l - j-l ldx
2 27 x"+1
I=£tan"E—lIldx +lj ?X
2 27 x" +1
[=—tan ——+—tan" X+c
2
dx

\/sirf xsin(x + o)

dx

cosc+cotxsino =1

— —sina cosec-x dx =dt

suict-[\/_

}{2\/;+C

SIn o

-2

sIn o

-2 COSX .
‘ COSOL+——SIno +C
SINOL SIN X

\/cusct +cotxsina +¢

+C

-2 \/Sinxmsn:+ COSXSsInao.

SIn o SIN X

+C

-2 Jsin{x +a)

SIN o SIN X

I=J (x+2)dx

2X* +6xX+5

d

gol— AT X+2=A—(2x +6x+5)+B

dx

X+2=A(4x+6)+B

T 6A+B=2=>B=

~ 1= 2% +6x+5

-

. 3 . .
'\/Sll'l X [5111 XCOoSO+cCcosxsino

dx

\/Sirﬁ X [cosa + cot X sin o

cosec x dx

I\/cnsa +cotxsina
HiAl —

Jot =T DR W)

1

4JA=12A=—
4

L]
2

l(-4:»;. +6) + -

2d:'-vr;

l=-1-j (4x +6) ""!'J. dx

X°+6X+5 2x° +6xX+5
s S T (1)
4 22
(4x + 6)dx
g I, =
| I2x2+6}{+5

AT 2x* +6x+ 5=t
(4x + 6)dx =dt

lf—-lngtﬂ:
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[, =log(2x” + 6x +5)+c,

GIE[IJZI dR

T 2% +6x+5
1 dx
I, =— -
272 43x 42
I 1 dx
s
2 1{-+3x+§+2—2
4 4
Iz=l dx 1
2 (x+2)° +—
S
11 5 }{+5
2 | 2 |
[, =tan™ [2x+3]+C,

1
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Sol.

ar: 1= Eh:.g(h.:l +6X+5)+ %tan"] (2x +3)

I{ZsinB—Z)cnsB do
5-cos 0 —4sin0

2sin0—-2)cos0d 0O

I:I(ZsinB—Z)mSB do
5—1+sin"0—4sin0
HIAl sinB =t

—>cosO do=dt

3t-2 A B

I
_I_

5—cos O-4sin0

(t-2)

= |(3t—-2)=A(t-2)+B

t=0WR -2=-2A+B
t=2WX 4=8B

(t-2) (t-2)°

BT AT ST P2

Ad: A=3

1_3-[(’[—2)

dt
,[ 2)2

[=3logl(t-2) +C

(t=2)

_ : +C
(sin6-2)

[=3log(sin0—2)—

8
Rig Iy Iﬂzlﬂg{l +tanx )dx = %lﬂgZ

m

| 1= L:;Ilng{lﬂanx]dx— —— (1)
O P, &M WR
xr T T 1
[= I4lng l+tan| ——x | |dx
o = 4 |
n tan%—tanx
4
[= .[u log| 1+ - dx
l—tanItanx

I [l+tanx+1-tanx
— |4lo dx
l -[ﬂ g_ 1+ tanx ]
¥ 5
— |4lo dx
: Iﬂ g_1+tan}:

i
[= [4 —
L;. [log2 —log(1+ tanx)]dx
L2 L
= |4 = i
I L} log 2dx .[u log(1+ tan x )dx

= ng2[K]§_] FHIBRT (1) 9

T
= log2|—-0
21 g[4 }

T
l=—log?2
g g
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j:rr X {dx

- s —dX BT H4F AT HR?
a‘cos“xXx+b°sin“x

X dx

n
Sol. 1= — dX ————— (]
9 j‘j a’ cos” X +b”sin” x (1)

TURE P, o WR

- rr (m—x)dx

2

cos”(m—x)+ b’ sin” (1 - x)

: jn dx J- X dx
= T =
3 3 b i
0 22 cos? x + b sin” X a” cos® x+ b%sin’ x

= Ejﬂ 9 o

72 2 . 3
Ua“cos“x+b“sin” x

n dx
21= 7| e
0 3% cos” x+ b’ sin” X

0 q

Tf{x)d}{ = Zi f(x)dx
0 0

e F(2a-x) =F (x)

1
Jcl. F —
Tl ()= a’ cos” X +b*sin” x

1

a? cos?(m—x)+b?sin?(n-x)

F(n—-x) =

1
=> Fnrn-x)= :
a’ cos”+ b’ sin” X

— F(x)
s dx

A 21= nxfﬂ —
0 a%cos® x+b%sin®x

n
- dx
:}[=EIE g 3} ¥ 3
0 .2 2 & w o f
a - cos +b sin” x

E sec? x dx
=% |:=1p

“ a’ +b’tan’ x
(cos’X BT 3 g & H 1T o1 W)
AT btanx=t Il x=0T9 t=0

T
— bsecix dx=dt K=E dd t= oo

I 1=—

o dt
o

=
a” +ltE

n 1 gt ”
—X—|tfan —
b a a |,
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i _
[= —| tan % —tan IUJ
ablL
nln
E= —=0
ab| 2
2
i
[= —
2ab
n xtanx dx
7. HIdh oA
Usecx+tanx
©» Xtanx dx
Sol. AT 1= |
Usecx+tanx
sin X
X
I“ COSX
= Jo 1 SIN X
.|.

=

0 1+4sIinx

COSX COSX

T X SInX

dx (1)

P, O STH WR
n
= |

l_j(

21

21

21

21

21

(

T —X)sIin(m — X) s

1+ sin(m—x)

- x)smx

d)

T

n

)

n

nj’ _
O 1l+sinx

I

l+sinx

sin X dx jn X sin X dx

l+sinx 70 l14sinx

sinx dx O

rsin X dx

0 14+sinx

J-ﬂ sinx(1 —sinx)dx

0 (1+sinx)(1-sinx)

Tl:jﬂ (sinx —sin” x)dx
0

L8

L8

. 2
l-sin“x

; o Y
TSIMX—5IN X

_[ 5 dx

0 cos” X

m g,

_[D [sec Xtanx —tan” :x;] dx

M
T | SITd HI?
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21 = nfﬂﬁ[secx tanx —sec” X + l]dx

1T

21= m|secx—tanx+ x|,
21= 7[secm—tanm+7|-n[secO—tan0+ 0]
2= 7[-1-0+m]|-n[1-0+0]
A= _g+n’-n
21= 7% _2n
2
=% _x
2
" i X SIin X dx .
_ DI+CD52}{ | HIA Sl axl:

XSInx
dx

— e L=
B9k ;[1+cnslx

x & fAspraa g 9 —

I=Ej sm:{j dx
27 1+cos™x
HIMT cosx=t R x=0 WX t=1
—sinx dx =dt X=T U¥ t=-]
Z ¥
I T dt
241+t 5
__Fr T
I= z[tan ]1 3
L
I=——|tari " (~1)-tai "1 4.
| tan™ (=1 |
(- T _E_E} 5.
21 4 4
-t - 7
I: b4 — 6
z 2 4
i j-{ZsinEi—Z)CDsB do -
4 > . | HIi I axl!
5—cos 0—4smn06 ¥ 7
S I_I(ZSiHB—Z)CDSQdB
' 5—cos - 0-4sin0 8.

I:I(ZSiHB—Z)EDSB do
5-1+sin"0-4sin6
HIAl sinB =t

—> cosO dO =dt

(3t-2)

lzjt1-4t+4

[21(3’[—2]

(t—2)°
e o § fFaifsa v o=
3’[—2: A g B
(’[—2}2 (t—2) {’[—2)1

|

= |(3t—-2)=A(t-2)+B

t=09y -2=-2A+B
t=298 4=8
Ad: A=3

dt
1_3j(t_2)+4j(t_

[=3logl(t-2 +C
gl(t-2) (—2)
. 4
[=3log(sin6—-2)—— +C
(snB-2)

3= Hgcayul g
szlugx dx &1 A9 8AT?

_-;%Jsinq) cos’ ¢ d¢ BT HIF BITT?

-2
; X2 —=xdx BT HA9 N7

'Cﬂijelngﬂinxd}{ T | BT

dx T 7919 BRTT?

l—-cosx

;;ex[l-qux S

J-/ sin X cos xdx

4
0 cos*x+sin®x

BT A9 BITT?

J-Ex[2+51112x}d}{ W

1+ cos2x
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STy — 8
AFAb A
APHR (1+1+2=4)

SglAP s AxT 6. Y@ >+3=1 o Prieh el S 4 1 drrw 7
1. EETE@?{};+}‘;=IEH‘FI'F{U][&}I3IW%? (1)6 (2) 3

(1) 6 2) 36n 1 iy 2

(3) 9n (4) 3n -
2. =T [a,b] H Q1 G y=f(x) TAT y=g(x) & @ Answer key

f(x)<g(x) T x=a,x=b & T 39 Il I BRI 1-1, 2-2, 3-2, 4-3, 5-2, 6-2

SBe Br -

h h Raa = a1 gid av—

(1) I[f(x)'g{“)]dx (2) j[g(}{]—f{}{}]dx . @b y=x’,x—308 Ud DI x=-2,x=0 Th &ABe

3 [[F)+g(x)]dx @ [[Fx) g(x)]dx 2. Th y=x’ TM G y=4 & §Id B &A% ¢ |
3. x=0¥9 x=n P dsh y=sInX D 9 g% &7 3. éﬂﬂgﬁ ; +};Z =2 Pl }{—31&-[2% SR B gThal........

(1)1 (2) 2 (3)3 (4) 4 e B
4 STNHI el —

(1)4 9 $oTg

AfdegxTHD YA

. Wl y’ =4ax Ud 39S AN 3 41 D 896 87

=9 7 & wigfed 97T o1 &83%d 27

(1) _f 16 —x"dx (2) _[ 16 —x dx y
2 0 A
3) | V16-x*dx 4) [V16-x7dx
2.2 V2 x1 > X
2 (a, 0)
_ € _r\\ A1 5
5. S = v
4 y X=a
=1 3 9 " 91T &1 &9 Aifdd wd H RUMTHSD e
YT |
(1)1 (2) 11 (3) I (4) None WA P A1 (3, 0) Bl 2
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qh y2 =4x Ua Gl x =3 & o1 DI SFhal A HRI? y
M
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v
X' € - > X y
x=3
}'l

s e = 2| ydx

{ - TGl y? =4x, y—ﬂﬂﬁﬂﬁﬁﬂﬂﬁﬁ%l}
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AT — 9
3ddhol GHIHIOT

JAPAR (1+1+1+3=6)

242 1)0 2)2
. 5 2x°d%y 3dy+y0ﬁzﬁ%%‘ (1) (2)
dx*  dx (3)3 (4) 4
()2 ) Ans. 4
(3)0 (4) aR=TfeT =181 2|
: 8. TmfoiRad sraee SHIGRUN H 9 B9 GHISHRU &
d d
2 ﬁ-i-SK[di] -6y =logx I °1d & — AUd g J/'=E'|E‘I+CE€_I B—
" 2
2 (%) {1} T +y=0 2~ 7 -y=0
(3) uRwTRe (4)0
3. (&Y Jadel ISR B UG 9 DI EHIAT Bl 2 G) ’y . _o @) a"""*y_l_o
(1) oI ®, Qi (2) ROTSS QUi dx* dx*
(3) gFTHS g RUTHSD JUITD Ans. 2

(4) DIz el L \2
4. iz (T T srada T H) pAR qfeM ik =@ ¢ [‘;i] +Cﬂ5[g}=0ﬁﬁiﬁf%ﬁﬂﬁlwmaﬁww
X
8l, T 2p - 3q BT A9 &7 |

(1) 7 (2) -7 Pife ST DT |

(3)3 (4)-3 d’y |
Ans. 4 Ans. a0 AAPHH DI BIfS 2 TAT 3H FHIGIY BT 19T U&
s ms:_i_a o 12 & Ty =1 x=0 AqhA-l H 9gUS A8l ©, SHIGY IED! °d GRHATNT

S
-2 -1
(1) cns(}fﬁ ] (2) cns[y}{ ] 10, Igfud St f& B y=acosx+bsinx 578
E
(y-1 .

(3) 5111[31{ ] (4) IS a.be R, DA FHIDGI 2 +} =0 HT 8 &

Ans. (2) Ans. &3 831 ®e11 & y=acosx+bsinx ...1

THIBNUT 1 D S U] Bl x, D ATUET IR (dDHiA
HY R BH @A B—

d
6. 3dhol THIDHIY §=ytﬂnxj yv=1 HTE & 99 x=0

Bl |
dy :
(1) y = sec x (2) y = tan x Ez—asmx+bmsx
(3) y =-sec x (4) y=sec x +tan x 5
ﬂ:—s:u:t:nszr:—E:lsinx
7. R Difc dlel fHAl AThd FTHIGIU & IS & H dx*
SURIT wWes 3=RI Hl &l B— d’y .
T Y AT 3T U 3radhel WHIDRUT H Yiceeniud
)2

Y Y
HY TR YT B |
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9147 Y& =(-acosx-bsinx)+(acosx+bsinx)=0
T G&T

dy x+1 ,
11.  3rddhcl FHID dx=2_},?(l¢2) PT ATIP Tl ST

DIT |

dy x+1
Ans. farmar g f& dx—z_yf.

FHIBRUT 1 & TR BT JIPH H- IR TH U I & —

(2 - y)dy = (x+ l)dxz
THIHNOT 2 B A1 G&IT BT FHTH T PN U

|@-y)dy=|(x+Dax

r=2) 1

13.

¥ 3

arerar 2y-2-=2
5 3

+ X+

S=1d]
x*+3y? +2x—4y+2¢,=0
X +y ' +2x-4y+c=0
c=2¢, FHIHU B ANDH & & |
12.  ylogydx— xdy =0 3dDcl FHIDRUT T AU Bl T4
DI |
Ans. a1 € ylogydx—xdy=0

vlog ydx = xdy
de dy
x ylogy

dx d 14,
j r ZI meéy

Jel logy=1 Y& UR—

id}!zdt:}j%zj—}_dr
= log|x|=log|t]|+c
log| x|=log|log y|+¢,
log | x|-log|logy|=¢

X

Sol.
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X

=@ =
log y (T

x=Alogy

lo =—lx—cx
gy y

p=g™ (GTTE}IE ET'I)

«d - 5
xﬁd—}f:—y:’ 3Thel FHIDRU DI IS Bl AT DN |
X

x’dy = - y’dx
dy dx

?=-§ (x3 T y* BT GET=IRT e UX)

1 1
I;—;d}fz—f;dx

— I}f_de = —j}{_id‘x

—5+1

—5+1 X

=— +C

~ 5l o5l

) 14: 14+C1

4y”  4x

| |

i 4=CI

4y”  4x

1 1

y4+ﬁ4——4c (4 F O B R)
Sl }’_4+X—4=C (—4C1=C)

Id—y—yﬂ‘ﬂinl:{l GHEY 3Tddhel THIDRU Bl Bl

dx X

ST DIV |
dy y
Ans. Y¥ATIER x—}—y+:rsml={l
dx X
dy y—xsinl
] X = X.V
- m f(x.)
AP gl s X
iy—j_rsmﬂ ¥ ISIHI
,:II_T ,:1',1 — —
f(Ax,2y) = =
=A% f(x,y)

log

logy
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y=vx TEA W,
d dv
—y =V+X—
. X
¥YX — XSINn—
T dv X _
V+Xx—= =y —Ssiny
dx %

ST 98} BT GHATH ST P N —

j 2-logv e dx

-v+vlogyv p
j i agvi ] dv=log|x|+logC
v(—1+logv)

—log|v|+log|logv—-1|=log| x|+logC
log|logv—1|=logv+logx+logx=Ilog|Cvx|
logv—1=Cvx

logv =1+ Cvx

lng£=1+C_£_x
X X

=£jlng£=l+{fy
X X

sfire g Cy=logZ -1
X

2 d}’

2xy+y° - 2x —-=0.y=23 x| TR SH

X

THIHRYT BT 81 ST DIy |

2x° f-?'}i =2xy+ yz
dx

dy _2xy+y° 1

I y=vx @9 W —

d ;
_y:T_'_xdt
dx dx

2 2
dv 2xvx+vx
V+Xx—=

dx 2x°
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2

xdv =Y 2= b
dx 2 2 X

T 98 BT GHTP AT HY TN—

[t ]

}—2+| 1

!
=—lo +C
o712 o8lx

-1 1
—=—log| x|+C
—=log |

.'}.‘-
g V=" I& R —
X

——=llng|x§+C 2

g x=ly=2 WA R
N

——=—logl+C
2 2 5
B
2
C BT HF GHIGIT 2 § V& T
_i_lm|ﬂ_l
2 5 2
x J
—=—|l-log|x|
=gl loglx
- 2x
3T 3 gaJ;l—myﬂ
16. 3IdPhol FHIHIT (’[an_l_}i—x)dyz(]+y2)dx Dl gl Slid
DI |
Ans. 31 gaT adhe FHIDRUT FleRad wu | fora@r o
Hhdl ¢ |
dx X tan”' y

+
dy 1+y° 1+y°

dx
s 1, *d—)ﬁpl?‘:Ql, 3 U P Was AqHd
AT & p : r O o2
| Iel Fi 1 }’2 vd 1 1+y1
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| '=-2sin” x+Csi
I_F_:EJ-HL'}JE‘:{ _ y sin" x+(Csinx
:I'r Y
WWWWW%— x=5ﬂ2ﬂy~_—2 Va9 W (=4
-1
+y
18. T35 (0,0) | T[OiRA dlcl U UH Ish DI FAHIBROT ST
=]
f:j'[t'la: f @Y gy DINY TP SdHeT THPRT ' =¢’ sinx T
J(.-
Ans. y'=¢'sinx
]
= dy =dt : .
= tan y_r?@ﬁlq?ﬁqmﬁ%%[l_[_sz} W Ting
dx
ara: I=I.~:‘E’dfjfzm‘ —Il-EIEI:I=f€I =e'(1-1) —dy =e’ sinxdx
I=e""Y(tan™" y -1) [ dy=] e sinxax

FHIGRUT 2 § 7 BT A9 gfoRnfud s wm—
xe™ " =e" (tan™ y - 1)+ C IR T

x= (tan" 3~ 1)+ Ce™ y (U< g<) CIGINGY I=I€' sin xdx

o Bl TETl Hord A TSI FHIG AT B UR

Y= IET sinxdx + C

dy :
17 —}—3ycntx=51n2.r; y=2 En‘%{:sfzE dlt 3Igdhd
dx - I =E't(—CDSI)—J-EI(—CDSI)dI
GHIGRU B [ARS Bcf SITA DI |
p =—e" CoOSX+ je"‘ cos xdx
Ans. ardebel TAIBRT ——3ycot x =sin2x
dx Ie"‘ cosxdx &1 WIS FHTH T B+ UN—
dy
de :i;-t-py:Q ® ®Y BT Adbel AHIGRIT B— I=e"cosx+e” sinx—‘[exsinxcix
3d. p=-3cotx Q =sin2x =—-e*cosx+e sinx—1
L IF = elPax _ JBeotxdx _ 3iogsinx -2l =—-e*cox+e*sinx
= elogsinx)™ _ 1  ShR e =5 leex(—cusx-i-sinx)
sin’ X -
I.F.=cosec’x [ BT A R0 1 H T W
3ddhel FHIDNUT B Tol— 1 .
y=—e (—cosx+sinx)+C
yIF.= jQ-f.F-dx $C 2
x=0,y=0 &I W
= y.cosec’x = jsin 2x.cosec’xdx+C
1 1
— IZSin x.cosx.cosec”.dx+C
zafar 9fiasvor &1 ftrse ga B1T-
=2Icﬂtx_cnsecxdx+c | I 1
y=—e (SInX—CcosXx)+—

= y.cosec’x =—-2cosecx +C
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19. &< 9% # o o ofg 1% affe & R | B E e etV
afd 100 $9Y 10 981 #H G B SId € dl r BT A9 S0d ax dx
dv x+vx
= V+X =
PITT | (log,2=0.6931) e —
AHS_WWWIWWP%Wﬂr%I v+:{dv—x(l+v)
e AP _ P = dx x(1-v)
dr 100 v.;_xdv—l'*'v
‘dP_Prde_rdt = dx 1=
Tdr 1000 P 100
. . & dv 1+v v 14+v-v+v? 1+vV?
Sl U8l BT FHThIT B IR — X—= = =
dx 1-v 1 l-v l-v
dP ' 4
—=|—dt # -
P 3100 o Y eg PV 1o
dx 1-v 1+ v? X
r My
108P=ﬁf+lﬂgf FHTH I DY R
l-v 1
r dv=|—dx
SlogP—-logC=——1 .[ 2 .[
g g 100 l+v X
l ¢ 2v dv dx
P P —-— dv + —=| —
= log—= L gl — 2Iv2+1 I]+\-’" X
C 100 C
kg ’ — —llng(vz+1)+tan_'v=lng|x|+c v=2
:}PZCEID“ 2 X
O (=0,P=100 I G99 G WX
O =e! =it =100 2
i - ol Y41 AL g
FHERU 1 H ¢ BT 94 3@ W = ~3lo8| 7 + tan :"ri—'i”a"glf*\'-l+E
P =100¢'% (v
a1 5 1=10,P =200 o GHIBROT 1 A — tﬂ“_l‘;—glﬂg(x—g+T]—lﬂgl‘ﬁl=ﬂ
200=100¢10""
= e 2 2
I I B tﬂn_li—llﬂgx -E;}’ —-log |x|=¢c
r x 2 i
E =gy
r trzln_'i—ll::mg}'{z-i_y2 x> =¢
:,EzlngZ X x?
e _ _ ]
—r=-10log2=10x0.6931 - '1-—1Dg(x3+y“)=c
Lr=6931% X
20. (x-y)dy-(x+y)dx=0GAUA dhd THIHRU Bl o -
. tanT —=—log(x"+vy“)+c
gcl SITd DN | x 2

Sol. (x-y)dy=(x+y)dx |

1+ x

> dy
21, (1+R“}§+ZK}’= 5, ¥y=0 9 x =1 GHHCI

dy x+y

dx x-y ATDhd FHIBNU B B I DI |

by = VX A TR
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Ans. (1+K2)d—y+2}{y= 1 ; L yxl. f = IQHI-F. dx+C 3§
dx l + X 1
2 2
dy 2xy 1 9 y-(l1+x )=I 55 (1+x")dx+C
& - , (I+x I (1+x°)
dx
d \ y(l+x)) = +L
d_yzpqu _\'}lllcﬂ"ll ¥+ U ".1+1!ui2
X
y{l+x)=tan'x+C
lezxszzl 122 1!{=1?‘I2Hy=07&§3[q?
+Xx (1+x°) 0(1+19) = tan] + C
2X
“_..Pd}{=_|.l+xzd}{ clex2 =y TEH W = T ~ []:E.,.C
2ndx=du n
du ) .'.C:_E
=> IPdK: — =lyu =log(l1+x7)
u
: - 2y -1 _E
- LF = EIPﬂ-‘*=emgu+x3} I AT 3T 8o = |V(I+x")=tan "X 1

a4 Udter ufue Jouidel dq Cfaeneis vee ... B

2ledrdre] faeret 100
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afeer derrorda
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H4 oiIfGTT 3 3R § < 919 afey 8 ik 99 9 &1 &
DI g BT 545 UP TS Ay € I —

i i
(Ullzi Q)ng Ans
(3) 0=7 @ 0== g
Ans. 4
2. 3Tfad A(1,1,2),B(1,2,5)3R C(1,5,5) APQR & 3§
gl dl &=hel BT |
(1) @ T 3PS (2) Jo1 T T
(3) 612 T IFE  (d) 27 T =
Ans. (1) 10.
3. Ife IRTR |few 3 &1 gRAT 'a' 8 3R ), U YRR
Ifesr 8 O 3 Us "6 afewr 2 afe
(1) A=1 (2) A=-1
(3) a=|A| (4) azﬁ
Ans. (4) Ans.
4. AE a=1+2j+3k T b=3i+2j+k 8. a b &1 1L
H9 BT —
(1)9 (2) 10
(3) 20 (4) 2.5
Ans. (2)
5. afe |fRw 3i+2j+k @O 6i+4pj+qk TR &, @
p TAT q & AT HHI: B — s
(1) (-1, -2) (2)(-1,2) L2
(3)(1,2) (4)(1,-2) (1)
i aﬁﬁ=2f+2]+2ﬁ: E=—f+2j+ﬁ3ﬁ?6=3i+]§ﬂ
YPR & h 542p @9 & ¢ Wl 3 &I A B8ATT? A
(1) 8 (2) 10 i
(3)6 (4)4
Ans. (1) Ans
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Ife 21-3]+4k 3R ai+6j—8k T & dl a &l AF
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(1) 3
(3)

(2) 4 (3) -4 (4) -3
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& Irfeer Arae afew g —

1

@ 5
(4) 79 | DI el

1 -~ - . &
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2
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(3) 6142 T TR
2
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O

(4) 394 | DIS ol
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4
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(i) AR Tyl TSI a1 4ol 3 a4 p & dl G T p & &9 BT DI 9 =60°
qfesr &% ﬁTﬂl HqTAT |ﬁ|=|g|=k
Ans. Fxb
1
(iv) 9% (+2j+3k & ReaMEEA.............. BT _—— ab 5 1
i m & Qb kk 2k
Ans. 12”1’ 14 I~
_ 1 , cos60°=
(v) T3St &1 41 gl &l hH H o U S9dT Fieel It 2k*
. - 1
Ans. 2 2K
(vi) <I9afee 3 3R p 99 A dead & Il 90 ... k:=1 k=4I
N -4 g k=|dl|=b|
Ans. 9RO T4 feom @qH L
“k=1=|a|=b|
i -
(vii) 3fe s g, Al AR W YOY A ... BT A al=1
Ans. ¥ R TR =1
13, WRE Goj4j_2k B o auE Y AR TR 15. WHRR TGSl BT dFhe Sd bty fSaal Heitd
eIl ¥ fAs—aRaEa S ST | TR G=3i+j+4k IR b=i-j+k GV AT T
Ans. R 7 = 4 + 5 + ok 9 a,b.c WA 7 B o Ans. THdl AR TS B Foiiv Yol G3IR 5 & dl
SR a=1b=lc=-2 DT &ADB |Gxb | EN I Bl € |
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a I > =¥ - y
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7l Ve il R
b _ 1
R axb=125+1+16=+/42
c -2 16. =g EE:E—?}+‘?I€ 3R E;=3f—2}'+2;’; ar |::':Ex5|
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| 1 -2 . _f A :
3Ad- ﬁzﬁ_aﬁ_ﬂﬁﬁ (\@?\@?\/@] g | Ans. g=i-7j+7k
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14, Trafeen g R p & ulRymr sa oifoe | afg ==
ORATT 9 © 3R S oI BT DIV g0° & AT S7PT Tk
I ﬁﬂxb=l -7 1
CIEN NG TY = 2| 3 -9 92
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- - . ;
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=/(19)" + (19)° ; . 11 1

im 361 T op F RE-emE 5 G Y
= +

777 19.  fa=gaif A(1,2,2)3IR B(2,3, 1) B! e arerm |afew
—19\5 4B 9T BN

; . = = . Ans. A(1,2,2)3R B(2.3,1)
17. 9 G=2{+3j-4k 3N p=i-2j-k & IROTH

& FHIRR U UET Gfesr sia sifoie foraer afk|ror 5 AB=(2-1)i+(3-2)j+(1-2)k

T 2 PO = (3, 3 + (v = )i + (22 - 2 i)
Ans. AT G O=AT p &1 GRo ¢ B AB=i+j—-k
i FeGel 20. 3Ife U FB3rS o1 a1 yoId afQs j4+2j+2k <=0
=2i+3j-k+(i-2j+k) 3 27+ k ¥ TR 2, a1 Bre &1 demd s1d S |
=3i+j Ans. A G =7 +2)+2k b=3-2j+k
- e R B i -k
bbb b T Snlall 8 2= (2+4)i -(1-6)j +(-2-6)k
s di+j_ 3 o L3 2 =2 1
vio 410 410 =6i +5] -8k
3 ¢ B RN g8 Al fTdd URATT 5 FHTS B
3. 1 . 3 Sl &1 eaA%el =%|5K5§=%\/36+25+64
_S(MHM“’J |
_15 ., 5 0. e
m; ‘/15_””% :%xi 5 o o
:mfﬂrﬁm“{ 21, adR b3 79 w9 AT TS |feTw 51+7) &R
=\/5%f+%x/Ef ai +bj T Bl —

Ans. 5;+73 3R ai+b] g9 &

18. <oTEA P ox, oy, oz &l & TR RR I &I AR P T a=5T b\ 7

22. 3fd 3 U AP Gfewr 7 3R (X-3)-(X+a)=8 dl

1 1 1
fep—ararET s BhABB =

|X| ST DI —
Ans. AT TP A OP,ox,0y T 0z & AR RWER DT Apg, .. 3 UF A5G AR 2 3 |a] =]
g T E @ (x-a)-(x+a)=8
a-f D feh PN = cosa,cosa,cosda X X+X-a+a-X—-3-a=8
=cos’ @ +cos’a+cos’ a=1 X[*-1=8
['.'!2+n12+ﬂ2=1] i|2:8+]
2 ! X|%=9
=C0S" O =—=
V3 X|=3
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AT — 11
B—fada sartafa
IAFAR (1+1+3+4=09)
fa7g (x,y, z) B z-3A&T ¥ AH=Tq N & —

afe @1 Xl B REII a b, T a,.b,.c, T |

d NNOR ofad grft Tfe—
(1) a)b, + a,b, +¢,c, =0 (2) af +b] +¢] =1

(3) a; +b; +c; =1 (4) aja, +bb, +c,c, =0

Ans. 4
2. IR USHNE x,y AR z & D AR DAL 90°.135°,45°
PHIUT 1T & Al S9d! fedmdraEd eRll—
L_LU U_ 1 ]
N AN A e
1 1 P i
3 2737 #0373
Ans. 2
3. X318 @ GHR a1 Ha fdvg 9 S drell X1 6
FHIHRT BRTT—
(1) 7= 4 R)F=AGi+j+k)
(3) F=ai (4) F=A(j+k)
Ans. 3
4. x-3EF B fCH—praEST B —
(1)1,0,0 (2)0,0, 1
(3)0, 1,1 (4)0,0,0
Ans. (1)
5. = 4 4 39 9g Ua 1 31 R q8 8?
(1)(0,-1,0) (2) (-1,0,0)
(el 1..1) (4)0,0,-1
Ans. (3)
6. I3 UH W@ x &7 T y 37&T | E P DIV g1cH1 & dl 34
NET 9 z A& & & DI BT
s 29
(1) 3 (2)
3 X e
(3) % (4) 3

z
) Pyt o (2) x2 +y?
(3)1 4 Y

Ans. (2)

8.  Ife TRl & fedharuid a, b, ¢, M a, b, c, 8
J IR oFHaq a8l afe —
()aa,+bb +cc,=0 (2) aj +b{ +c; =1

(3)ab,+ab, +cc,=0 (4) a2 +b+c2 =1
Ans. (1)
9. TuEy f& &5 (2,3,4), (-1,-2,1), (5, 8,7) &@ &—
Ans. AT &3 T 45 A(2, 3,4), B(-1,-2,1) 1 C(5,8,7) &

AB=\/—1—2)3+(—2—3)2 +(1-4)
=3y + _3y
=J3+25+9=m

BC=y(5+1) +(8+2)+(7-1)

=+(6) +
=36 +100+36 =2./43
AC=+(2-5) +
=(=3) + -3)
=\/9+25+9=Jﬁ

~ AC+ AB=+/43 +/43 =2/43 = BC
aa: g 4B @1 ¢ @ &

(10)* +(6)°

(3-3) +(4-7)

10. fe=g (5.2,-4) & S drell T AR 37 107 gk D
THIAY Y] T e GHIHR0T STd HIfy |
Ans. 8% 30 & foh—

=5i+2i 4k IR p=3i+2i -8k
=AfIT, ¥@T BT afeIT FHANT o—
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gfe 27 Wgreii & 759 P 9 B, o
a,a, + bb, + ¢,c,

2 2 %0 3 2 2
\/a, + b +¢ \/az + b5 +¢;

SrErTaTe fera-100
F =51 +27 - 4k+ A3 +2j - 8k)

11, %QTFQQETW cosf =

f:3?+2}-4£+,.1(5+2}+2£)

B 2x4+2x1+1x8
V22 422 412442 412 4+ 82

3R F=5£-2j+ﬂ(3£+2}+5£)

& =g DIV ST HIFOIT |

Ans. T I _ 8+2+8 _ 18 18 2
HET XERIT & €1 " B0 g & dl Va+4+1416+1+64 9481 3x9 3
cosf = Slgz .'.Szcns_'(gl

15,15, | |
14. @1 gl & 4 DT DIV A DifoTg—
cnsﬂ—('!?+2}+2k)(3f+2}+6k] x=2 y-1 z+3 x+2 y—-4 =z-=5
— == =] — =
V1+4+449+4+36 i e
cosf = 3+4+12‘—E Ans, &1 T8 @RI & fTHarara—
3Ix7 21

ﬂl - Zjb| = 5:,(:-'1 == _3

0 = cns"(gj a,=-1b,=8,c,=4

21 ST Y@ @ " BT BT g B Al —
2. fa=g (1,2,3) ¥ T[oRA drell XET DT FHIDRIT ST DIFGY
. . a,a, +b,b, +c,c,
S | 37 +2/ -2k P TR E | \/af+ﬁf+¢f a, +b; +c;
Ans. Rfd fa=g 4(a) ¥ ToRA arell X@1 4p T AR 5 B
et 7 < _[2x(=1)+5%8+(=3)x4|
i J4+25+91+64+16 |
F=d+Ab
. " A A -2+40-12
TET W G=i+2j+3k -
e =
IR p=31+2)-2k .
I NG 4p BT FHIBR] = —=
e S 94/38
F=(.i+2j+3k)+£(3i+2}—2k)
af 26
13. o= war g & =9 o7 sa S | =08 (ng
f—i—iaﬁ—\; =3 =z F=3
2 2 1 4 2 8 15.  favgaii (-1, 0,2) 3R (3,4, 6) 9 EIHX SIH dlell &I B
x vy oz R i FHIPRUT ST DITT —
Ans. Y@ =2=2 3 fem JTATT 2, 2, 1 & A &l .
2 2 1 Sol. fa=g (A) (-1,0,2) &1 Rfd |fee — 3 =(-i+2k)
3‘;5:?‘;2::;3 o sUT 4, 1, 8 B fa=g (B) (3. 4, 6) &1 Reifey |few — b =3i+4]+6k
a,=2,b=2c = A b-a=(G-(-D1)+(4-0))+(6-2)k
a,=3,b,=c,= = 4i+4]+4k
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37T N BT A TG T = —i + 2k + A(di+4]+4k) 18

Xx+3 y-1 z+3 x+l y-4 z-5

3 3 S 5 g 1 1 2

D &g DA A DIVIT —
.+ Ugell Y@l & feHharurd = 3,5, 4

Sol.
TR @ & & equia =1, 1,2
s G i a,a, +b,b, +¢,c,
:51,2+I::;“’+::*|2 Ja%+b§+c§
3-1+5-1+4-2
cosO =
32 +52 +42 12412 +22
16 16 gﬁ
cosO=|—=|= e (O
‘\/3‘ 5246 T 15
8\/3
cos=——
8 =cos™ @
15

S XEIRI & HeI DIV S D] foras f&d U a,

b,c3R (b-c),(c-a),(a-b) Tl
a(b—c)+b(c—a)+c(a—-Db)

Va2 +b2+c2 \J(b—c)® +(c—a)’ +(a—b)?

cosb =

ab—ac+bc—ab+ac-Dbc

Va2 +b2 +¢% y/(b—c)® +(c—a)’ +(a—b)?

cosb =

0

cosb =
Va2 +b% +¢? y(b—c)® +(c—a)* +(a—b)?

cosO =0

0 =cos ' (0)

;0=

| A
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Tt e arfeer ey = € & §ig @ =geae
SId DIty —
f=(1+2]+3k)+A(1-3]+2k)

-

T =(4i+5]+6k)+n(2i+3]+k)

[, =4, + Ab, & eI B W
a, =1+2j+3k, b, =(1-3]+2k)
a,=41+5]+6k, b,=2i+3j+k

{52_51)'(51 ?“Ez)
| by xb, |

g1 B g e g 4=

3 d,—a, =(41+5]+6k)—(i+2]+3k)
= (4=-D1+(5-2)]+(6-3)k
= 3i+3j+3k

i ] k

1 -3 2

53 3 1

g
X
=

bed
|

b, xb, =(-3-6)i-(1-4)]+(3+6)k
= —9i+3]+9k

I | by xb, | = 4/(-9) +32+9> = \/81+9+8I

b, xb, |=4/171 = 319

(3i + 3]+ 3k) - (=9i + 3]+ 3k)
319

3(-9)+3x3+3x9

3419

—2?+9+2?‘

919
9 9
3J19 19

d
e 2
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sd=
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= 12
i}li‘qm P IDIL G|
IR (4)
f=feiRaa gaRe & arvaia Z = 3x + Sy & ¥y

fafsr | AferpaAIHRoT ISy
X+2y<10,3x+5y=<15,x20,y=20

g — feU gauy

S5x+2y <10 ——— TR (1)
3x+5y<15 —aRH (2)
x>0, y>0———————— T (3)

TaRE (1) | FHIB 5x+2y =10 & §+§=1 qer
7a 875 (0, 0) 0<10 T HT 7|

TR (2) F FHISU 3x+5y=15 AT §+%=1
a7 7o f99g (0, 0), 0<15 HIT DT & |
R (1), (2) 9 (3) & AT @l | IRdg &3 OABC

gaTd &3 2

;’I 3x + 5y =15
ox + 2y =10

Frfe fvgat @ W Z 3 7
A(2,0) 99 Z=5(2)+3(0)=

20 45 20 _ 45 235
Bl = | gg Z=5%—43x— =2
(19 19] ad 19 19 19

MfEHaH

C(0,2) 99 Z=5(0)+3(2)=6

20 45 235 3
ard— [19:'19] WZWWWFW
BIaT T |

PrfaRad IREl & eFaa z=5x+3y @T Aed &

fafer | =gaHIaRr Hifse—

X+3y=23, x+y=2, x,y=20

gol— QU TR x +3y 23 —— AR (1)
X+y>2 ——— GRH (2)

x>0, y>0———— TaRHE (3)

X
TR (1) & FHIBROT x+3y =3 Al §+%=1

=1 7o f875 (0, 0), 0>3 Td< Tl Hal & |

TRIE (2) | FHIBRT x+y=2 & §+%=1 T H

fa=g (0,0) 0>2 A< &l FAT 2 |
gRE (1), (2) 9 3) & oAl | JURTE &3 AU
gaTd &3 (Brifed) e mar 2|

x' €

DIy fegall & |7d Z S A
A3,0)dd Z=3(3)+5(0)=

31 3 1) 14
B(z 2]?““2 :{J (EJ’?‘T““W

C(0,2) 9 Z=3(0)+5(2)=10

31 .
=5 | W Z P ~g-d9 919 7 Y Bl &7 |

ffeiRaa Rl @ e=Td Z =3x + 9y &1 s
I @ T A gRT gAaHTHRY 9 b aHiavor
DITSTT—
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X + 3y < +60 ISP (FaRM) 1, 2, 3, T 4 & ATrAl X IRIg &3

x+y>10 ABCD & &3 2 |

XSy ,

x>0, y>0 1
g — U Ry

X + 3y < 460 ———— GaRE (1)

X+y=>10 TR (2)

X<y I x-y<0 ——— FRHY (3)

x>0,y>0 ———— R (4)
FaRE (1) A FHIBRT x+3y=60€|T:0+2};]=1 P fimgel @ wrd Z & "H-

A0, 10) IR Z2=3(0)+9(10)=90

TR (2) & FHIST x+y =10 T %+%=1 B (5, 5) W Z=3(5)+9(5) = 60 —— =i
o et g (0, 0) AT x+y>10,0510 Frage € (15,15 WZ=3(15)+9(15) = 180 —3HRIH
Tl Bl © | D (0,20) TR Z=3(0)+ 9(20)= 180 —— 3rf&rmaa
TR (3) | FHHN0 Xx=y @I 85 (1, 0), rafidn 3Tc— g &4 favg B (5, 5) R Z &1 ~g-dH |11 60 ¢ |
x—y<0, 1<0 B GIe T& Heer | a1 ifersad AT 180 & fe=gail C (15, 15)9 D (0, 20)

g1 9 CD R Rud ya® favg o= Y a1fdraas A4 180 & |

a4 uten ufduna Jemaa 3 dfaaiiee vae .. B al$ udten ufounal Jowiae &g Viaeioid Uee ... B

oledrarel farerst 100 SN 2ledrdrét farerst 100

fifdroet el ot oidloiael PDF 3ot fdfdios fdwal of sidloidsl PDF s@airls
Heal & QR CODE il d Henl & QR CODE i id

BRI HYw foiderd @t felelt, I& &i8ipT, I (2151.) BrIfeT: Y foderd wqet fered, I& aipT, T (2151.)
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AT — 13
UTRIbdl
JAPAR (1+1+2+3=7)
Ush oY 99 H 53 HITAAR 374 DI Wil & — (3) B=¢ (4) A=¢
(1) 17 (2)2/7 8. afe P(A|B)>P(4), ad Fr=1 § A a9 w 2
(3)3/7 (4)0 (1) P(4| B)< P(B) (2) P(AN B) < P(A).P(B)
gfg A iR B Tl TISHAIV 39 9HIR B % (3) P(B| 4)> P(B) (4) P(B| )= P(B)
P(4|B)=P(B|A)=0 T 9. Tl Asik B 2 g R -
(1) 4cB (2) 4=B P(A)+ P(B)— P(A~ B) = P(4), TS
Bl Anb=y (1) L) =Fh) (1) P(BIA) = | (2) P(AB)=1
P(B)=05, P(AnB)=032 ar P(%]ﬂ (3) P(BJA)=0 (4) P(AB)=0
10. afe P(E)=035 3R P(EUF)=06 & @M E T4 F
16 32 ) 25 a4 "eA] & a9 P(F) &1 7919 &7
1) 23 @2 O S . ]
a1 TRl A 3R B & TRER Wdd $ed ¢, afe () 33 (2) .3
(1) A 3R B U3R 39dsil & 9 11
(3) 3 (4) 3
(2) P(AB)) = [1-P(A)][1-P(B)]
(3) P(A) = P(B) 11 3R P(A)=> Td P(B)= o ATH B TR S
(4) P(A) + P(B) = 1 ¥eAg € df P(AUB) &7 719 82—
. 5 4 e 3 |
A P iilpar — 8| U = fou
Sisl A slel 5 Udh Idddh] Sowiddl {1} - (2) 5
SITaT & T A 9aran & & & gelRia gen | arafds w9 4 3
3) = 4) —
# fra g@ee 81 @) gilksar - 3 H
4 : : ; 12. afd P(A)=0.8 3R P(B)=0.5 df P(ANB) & d
()3 (2) 5 () 3 4 3 1d HIfoiT wefe P(B|A) &1 79 04 &I |
. (1) 0.20 (2) 0.40
zrt%A'aﬁq BUHI TG & f 4 — g @M P(B)=0 @ 3 i 0
=1 % 9 319 31 & 13, FRad g & wiiear B 22
P(B) (1)o (2) 1
P(4|B)=——2
(1) PAIB=570 (2) P(4]B)<P(4) 1 1
(3) 3 (4) 3

(3) P(4]|B)= P(4) (4) 74 9 Dlg e

gfe 4 R p A1 W@ "eAW & & P(4)=0 3R LABSWeR -

P(B| A):] %- a\T 1_25 2'43 3'15 4'25 5'15 6'3, 7-1, 8-3.‘ 9-23

10-1, 11-3, 12-3, 13-2
(1) AcB (2) Bc 4 ’ ’ ’
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ANT—4 C5+410-1_ 14 7
14, US Y &l I IR IVl 7T AR Yhe g GBI DI 24 24 12
7
[T 6 UTAT 71T | 6T 4 & “gdH U IR YHe & Dl = BBy s BT |
gIfdrepdr ST Hifviy — ] 3
| 16. afe P(A)=— 1©g P(B)=— @1 A 71 B wWad
Sol. ¥ E= W& 4 &1 YAdH TP IR I 2 4
b5 R T B gcHC & ol P(A 98] 3R B 5181) &I A ............ BT |
1 1
E= {(4.1).(4,2)(4,3)(4,4)(4,5)(4,6) (1,4)(2,4) (3. = GRS
4)(5,4)(6,4)} 3 3 1
~P(B)===PB)=1->=—
F=1{(1,5)(2,4)(3,3)(4,2)(5, 1) 4 4 4
— AT B Wdd ¥eHAN g 3d: A' U9 B' Y TWdd geHAry
ENnF = {(2,4)(4,2)} 2|
F IR = 6 x 6 = 36 3T— P(A'MB")=P(A")-P(B)
5 2 1 1
P(F)=—, P(ENF)=— oy 1
(F) 36’ (ENF) Y. P(A'NB") = o
= P(A'"B') =~

P(EJ PENF) 36 2
3. PE) 5 5 17. U® uRaR # 31 9= 2 | Il ¥ s &1 & s=ai 4 |q o9

F
36
q HH UH 9221 dSh] &, dl Sl B Aedl 8 DI T

5 1
5. afe 2P(A)=P(B)= vd PB/A)= g dl iy 27
P(AUB)=............... B | Ans. I & b oeadT Td g oea! dI Fofla axd g1 o
goli— YRATER ZP(A)=P(B)=% QR0 61 gidae |4 2—
; : S={(b,b), (b, g). (g, b),(g.82);
Sid— ZP{A)zﬁ ép(ﬁ)_ﬂ a1 f6 E Ud F a9 A= geAmii & g9id 8—
P(B)zi E: <M 90 €d 2 |
12 F- 9=l § 4 &9 9 39 Uh dSdl § |
| _P(ANB) 1 )
SR ST @ E={(bb)},F={(b,b). (g.b). (b, 2)}
= P(ANB)=P(A)-P(B/A) I ENF={(b.b);
. e P(F)zi NG P(Emﬁ):l
T 245 24 4 4
3d— P(AUB)=P(A)+P(B)-P(ANB) ( | 1
] \_P(E~F) 7 1
S D WI?WP(EH)_ P(F) 3 3
24 12 24 3
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gfe f&ar a1 & f& SH0 9rEl Bl b+ WR UId H&Y
fP=1—f=1 €| S SRl &1 AT 4 B & giidadl

ST HIfSTT |
2l UGl Dl I8TeH WX Ufdesl afie S =6x6=36

AT b g1 A= IRl &1 AT 4 B | 20.

A={(1,3),(2,2),(3,1)}

31T n(A)=3

31 UTl @ SBTa § A AT drel gRumd
={(1,1),(2,2),(3,3),(4.4),(5.5),(6.6)}

gl B =9l R I8Td R A== e gre grm

=36-6=30
n/B| = 30

An B={13).(3.1)}

2
a9 n(4nB)=2. P(Aﬁ3)=£
3 30
P(A)=—,P(B)=—
(A)=3¢-PB)=7 21,
2

P(AnB) 36 2 1
P(B) 30 30 15
36

o P(4|B)=

R1g #IT &% afe E 3R F 31 wda geA] & d E3iR
F' 41 wad= grft |

Fife E Ud F TWad OS] & Safeiw
P(EnF)=P(E)P(F)

SURIGKT I 3RG A W & (& (En F)aen(En F') TRER
JgStt TN B |

22
Yy F
QB)
o SIS
/‘ T P Eng

EnF!  Enf

I 8 E=(EnF)U(EnF)

Ans.

HA : 2024-25

I P(E)=P(EnF)+P(EnF")

P(ENF')= P(E)- P(E).P(F) (G@axu 1 4)
P(EN F')= P(E)[1- P(F")]

P(ENF')= P(E).P(F")

AT g AR p @dT HeAN B
A o ETYT F S 39 JhR & TcAl & P

3 1 .
PE)=2, BF)=15 w@ PENE) =~ qe s Ea ¥

tSnERS

et R T & 5 P(E)=2

3
P(F)=—
e P(F) 0
3 3 Y
Erﬁ‘a'PEHPthx =
(R 5 40 50

aqT P(EﬁF)=%

= P(EnP)=P(E)-P(F)

31d: E a1 F W@ad 981 & |

U U B T IR ISl SIdl & gedl U™ TR 9T
GT 3 BT 3T & DI E | 3R U R 9T 61 99

g @ F ¥ S=fUa fesar Sy O 9ad @11 gea] E vg
Fad—= &

gol— &9 OiFd & fdb 39 I &f gfoest gHfe g ¢
S={1,,2,3,4,5,6)

I E={3.,6}, F={2.4.6} Td& ENnF={6)

2 1 5 1
a9 P(E)=—=—ug P(E)=—=— =21 P(ENnF)=—
) 6 3 ) 6 2 { ) 6

W=l P(EF)=P(E)-P(F)
31 E @211 F Wdd "eAl & |

HHT—YH
52 U1 @I B! ARE He 7T TSel § 9 Uh & 918 U
9 gd fa=1 gfoenfua few Maret 70| uge 31 ol @
9IGIE 3R UK B STBI &1 DI 901 IidHar g0

74 of f6 K "geA1 AaTel 141 udr 91€9E & 91 3k A

Tl BT 37 Ul ST € &l Jad B & | Wedadl

4 P(KKA) STd &A1 & |
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4
P(K)=—
arqg ()52

iy 8 P(K | K) Ig d 81 &R fdb ggal Adbrern a1
a7 95308 & 9R SR Ud &I 91630TE 89 & Hifddar
HI ST & | 3@ TSl A (52-1)=51 I € o =
dIqeE 8

P(K |K)=—

¥ 5l

3ida: P(A|KK) 9 faTel 1 Ud BT 3961 B4 Bl
gufceer uiiiear g o9 {6 % sia § & <1 91eene ugd

3

B &1l O 9@ €| 36 Qe H 50 U< X8 U &
SRSITIN P(AiKK)zP(AgKK)z%

giidehar & o | g§RT 84 91« Bidn & b
P(KKA)= P(K)P(K | K)P(A4| KK)

4 3 4 2
~52 51 50 5525

aF afa= fesd L3R 11 3T 710 & g & # <)
Rrap B fosd 19 g1 Rigs 99 & 8, fod 1 H I
Ryep =) & € IR &= 111 § U IF IR TS el Bl
figsT 81 Ue gfdd grg=edr s fear a1 & iR
IO ¥ IIg=edl U gl Maraar g | 3 Riasr 9=

®1 &, d 39 91d o g1 gifldear & & o= § <o
Rygpr Al |99 &1 2 27

qH o EL E,3IR E, a9 {8« [ 113IR 111 & T34 &I
fAefd s3d 2

7 P(E)=P(E)=P(E)=
ey B 7119 of A geAr 'Rarern I Rigsr 9F 1 e &l
I 2 |

dd P(AE,) =P (R=d 19 |1 &1 Ragar Adbe)
2

=—=1

2
P(AE,) =P (f6=d 1 ¥ A1 &1 U Ryt fdher) =0
P(AE,) =P (S«4 1 & |11 &1 Rygs1 e = %

o9 fod # g1 Ryt ¥ 9 &1 89 @ wiifsar
= F@rar a1 AF o1 Raet S 19 89 ot iifiaan
= P(E |A)

39 SO-9HT ERI

24,

Ans.

23,

HA : 2024-25

P(E,)P(4|E,)

A= BB Pl E) + PE, P4 E,)+ P(E,)P| E,)

lxl
3

lx]+lx[}+lxl

3 3 3 2

G I DIRAANTE b a8 4 § 9 3 IR I el
2| 98 Us U &I IBTodl & 3R adarar & 6 S w®
3T+ ITell TAT 6 & | 59 B IS ST I {6
TR S TTell &A1 Id 5 6 & |

71 oiIfoTt & E afdd eRT U9 &1 SOTd Y I8 90
P fd SE W 3 dlell GIT 6 & H g 2| 794

SASTg fb S, UTl OR X1 6 &l 3 B " B | 9

P(S,) =TT 6 3 DI TS DI YISl =%
P(E[S,) =afT g1 I §a R b 914 b e 6 3z
g Oefd 9 O AM drell AT IKId H 6 ®, D

PG

2
3

= gfFT ERT I dIo1 P IS ar =%

P(E[S,)=afdT gRT I §a W b IR IR W1 6 3%
2 S9fh 9T UR 3H arell O IRGd ¥ 6 T8l &, Pl
PHEESI

- If ERT T e B S =1- > =

4 4
9 991 IHY T

P(S,|E) = afdd gRT I 91 3 giiddar fo dwm 6
gdhc T3 &, 919 dR<id H &1 6 B |

_ P(S)P(E|S))
~ P(S,)P(E|S,)+P(S,)P(EIS,)

N
_.}{_
1.3:3,1 8 8 8

6 4 6 4

aﬁ:wﬂﬁmﬁwgél

U5 {9 99 &1 AR B ERT Wdd %9 9 1 HA

aammwmm:éaﬁvgémﬁaﬁmwm
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IR B HR B TN B &, A1 AADHT ST DIfog
& —

(i) G991 &4 8 Srdl 2 |

(i) S99 ¥ TRIT: Bl U IAT &1 HY oidl ¢ |

1

A 3R B ERT 99RT 81 BYH 1 YIpdr sy : 3N

] . ] |
3 3N 7 Bl B DI gifiddar paer 1-— 1 — 3R

I 2
1 2
fouis =
z A =
. E 2 |
(I]WW;[E#@@WW:EKE:§
_-_aﬁzr%waaﬁﬁﬁmﬁwﬂ—%:%

(i) I I7<g1 & €4 89 Bl S3AR 9 &1 4 DI F
fawfog o8 ar 92ud: 99 99T B & SF+FSET
g ThdT SIg |

1 1 1) 1
=D gTfpdr =5}{[1—§]+(1—E]}{§

1. 2 & F kyd | 1
:EKTE}{E:E(EJ’E}:E
ol 1 H 3 Tl TAT 4 Blell Tie & agT Sl 2 H 4 AT
3R 5 el g 2| TP g D ST 1 4 oam1 2 H
RIFIRT fHar Srar g 3R a9 U Tig Sl 2 ¥ el
ST & | Frprelt e 7T o 9T &I 8 | WIHETaRd g
P BIoil B DI ITRISAT ST HIFT |
Sfot 1 F 3 ofTer 3R 4 Brell e B
T St 2 H 4 1T 3R 5 Brell T B
#19 AT TesT E @1 E 9l 1 9 offel 71 3R Sreil
g o= 3 8 a9

3 4
P(El)z'??:P(Ez)z"_;

gedl A Td 3T B T Harer
U ofld 71 9ot 1 3 fAdTel ¢ 2 #3@ & 712 | 39 TR
Sfel 2 # 5 ool 3R 5 Predl e & TS |

HA : 2024-25

P(AfE,)zi

10
TP Dlail 7 Aol 1 A Fprea a1 2 4 3@ 91| 39
THR TR Aol H 4 o7 2R 6 Frell S B

4
P(4/E,)=—
: (4/B:) =+
I gHT 9,
P(E,)P(4/E,)+ P(E,)P(4/ E,)
o
710 16 16
3.5 4 4 15+16 T
7 10 7 10

a4 udlen ufdunar Jooias aq Mfdefdio vee ...

fdfdroet fdwai ©f sidloiaer PDF 3@6ins
Hedl & QR CODE ol id

BIAAY: Sy (ciderd @ fRlel, & aipT, 1S (2151.)
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IEEare! e dfsd dux 1
fasa: 0T (Mathematics)

DET — 12

94g : 3 " 15 e quTie : 80
giarfetar & foru amm= e -
GENERAL INSTRUCTION TO THE EXAMINEES :
1. oeme] gaugH Y+ Yo Y= R AMie SifHardd: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 9 9 oA e g |

All the question are compulsory.

3. YUSD Y &I SR &l T3 SR YRdadr J B ford |

Write the answer to each question in the given answer book only.
4. 59 991 4 A=iRe WUE &, 99 W4l & SN U 91 Bl ford |

For questions having more than one part, the answers to those parts are to be written together in continuity.
5. 9 &l IR forEq | qd U B HHIG g ford |

Write down the serial number of the question before attempting it.

6. UH UA & f2=al T AU wu=wol # Bl gaR @ I/ ax / fORrmr 8 IR @) W91 & 9% &I &1 9al A |

If there 1s any error/differencc/Contradiction in Hindi & English versions of thc question paper, the question of Hindi

version should be treated valid.

7. U3 HHS 14 9 20 H aRE fTHeg g

There are internal choices in Question No. 14 to 20,

Yisg — I
1. 9gfdded! U (i W xviii) (D ¥ — 1 3(P) 1 x 18 = 18
Multiple Choice Questions (1 to xviii) (Each question 1 mark) (1x18 = 18)
(i), afs A={1,2,3}) 8 I a@gq (1, 2) dlel Jedal Gl & I § —
IfA= {1, 2, 3}, then the number of equivalence relations containing the element (1, 2) 1s -

(1)1 (2) 2 (3)3 (4)4
(i) tan~'/3—sec™!(-2) SR & — tan™'/3 —sec™'(-2) is equal to -

T T 2n
o @ -3 (3) 3 Ok~
(i) 3 x 3 DIC & UH MGl D G |l fhanl s8Rl el g3 gfafie 0 a1 1 &7
What 1s the total number of 3 x 3 matrices whose each entry 1s 0 or 1?
(1)27 (2) 18 (3) 81 (4)512
(iv) IfT nIfc BT TP T ATgg A 4T [adj (A)| BFTT —

If A 1s a square matrix of order n, then | adj (A) | 1s equal to -
(1) |A] (2) |A] (3) AP (4) A

G Scanned with OKEN Scanner
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PrErTaTet frgr=-100
X 6 x 2| |6 2
(V) IIﬁflg « |18 6| 8 al X IE & — 13 |=|13 6 then x 1s equal to -
(1)6 (2) -6 (3) £ 6 (4) 0
. dy dy .
(vi) afs y =cDS(~/;) ar ST AE BT — If y = cus(«./_) then the value of —— 1s -
dx dx
Sin(\/;) sin(\/;) sin (\E) sin(\E)
(L) - (2) - (3) (4)
24/x Vx 24/x Vx
(vii) F=ferRad # a9 B {D, g) # 19919 &¢ Which of the following functions is decreasing in [D, gJ‘?
(1) cos x (2)sinx (3) cos 3x (4) tan x

KXl ®ES

(viii) TfS F(K)={ L 5 SN IRAIRT Bl x =5 TR Fad &, q k&7 A © -

3x-5:
kx+1: x<5
If the function F(x) defined as F(x) = _ 1s continuous at x = 5, then the value ofk 1s:
Ix-5: x>5
L3 6 o5 "
(155 @ 6 - (4) 3

1 I
(%) {JE + ] 1 GRITEHET &7 What is the antiderivative of @E + —} ?
Jx Jx

1 3
(1) %:{3+2\E+c (2) —x +;x2+c

3 l
(3) %xz +2x2 +¢ (4) —x~ _J_+c

(x) T X2+y2=2 D x-31& & HUX &FHa 87
What 1s the area of the circle x* + y*= 2 above the x-axis?

(1) 2n (2) 2 (3) 4n (4) =

3
(xi) JAHA FHIDHRI (dzf] +(d—y] +51ﬂ(dy]+1=0 P U ® —

dx* dx dx
d’y 3 dy dy
The order of the differential equation [ J t (—J + 51“( ] Hl=l g
dx? dx dx
(1)3 (2)2 (3) 1 (4) IR¥IRT €1 €|

(xii) IfS 1 AT 3 T § @ &1 @ DI g %?ﬁ‘ﬁ-a:‘ﬁxﬂ 9g @ SRIER 87

If g is the angle between two vectors 3 and p, then |a- B‘ =‘5KH‘ when @ is equal to -

T T
(1)0 @) 5 (3) 5 (4)
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(xii) A F=1-2j+k BT AXA b=4i-4)+7k R Y&Y &N —

The projection of the vector 7 = | — 23 + k on the vector b =4i— 43 +7Kk is-

19 19
(1) 19 (2) 1949 (3) NG 4) 5

aiv) [ 1-Gxk) [x[ -G xk) [+ k(ix)) aram
The value of F-{jxE}Jx[j-(ixﬁ)]+ﬁ(ixj} is:

()0 (2) 1 (3) -1 (4) 3
(xv) Bl IR oHad @Rl & fadmarurd 1, 2, 3 T=JT 3,2, A BT HI49 8111 —

The direction ratios of a line perpendicular to the lines with directionratios 1, 2, 3and 3, 2, A will be:

(1)7/3 (2) 5 (3)5/3 (4)-7/3

(xvi]ﬂﬁp(ﬁ)zéj P(B)=0 @9 P[%} e

PA—I P(B)=0 PE'
If P( )—2? (B)=0, then g | is:

(1)0 (2)1/2 (3) gR9INT &l (4) 1

(xvii) B UG BT TP SIIST SBTAl STl & O TP I TR Udh 99 T A&l 9T 81 &I Jiildar ar grfl?
A pair of dice 1s thrown. What is the probability of getting an even prime number on each die?
(1)0 (2) 1/3 (3) 1/12 (4)1/36

(xviii) &1 TRl AR B I IRER Wad Hed &, dfs

Two events A and B are said to be independent if:

(1) ARIR B UR¥UR 3Yawil & | A and B are mutually exclusive. (2) P[A' B']=[1 - P(A)] [1 - P(B)]
(2) P(A) =P (B) (4) P(A) + P(B) =1
Qrg — §
2. Raa ®IFAI & gfct @1 — (3F® 1 x 6 =6) Fill in the blanks (Marks 1x6 =6)
(i) sin"{sin%ﬁ} . ® | The value of sin"[sin %ﬂ is
1 5 (1 5
(i) IS ITgE A=L .J ar A'= ... | If the matrix A= 6 ?],ﬂm.m=

()R il CE— |

(iv) JgdHerd FHIBR (tan'y - x) dy = (1 + y?) dx BT FHATSTA UMD ... e B

The integrating factor of the differential equation (tan' y - x) dy = (1 +y*) dx 1s
(v) & Sre & x 33T @ fAhy 3 U §ol 39 ®0d H R(x)=4x2+43x+ 78 x= 6ﬂﬂfﬁmr—ﬂw .. BIT |,

The marginal revenue of a product whose total revenue in Rupees R (x) = 4x* + 43x + 7 where X = 6 units sold is

(vi) a =2;—j+f{ & A% AP AQ9............. @1 The unit vector in the direction of ﬁ=23_3+]; 1S
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3. 3rfa AYRTHD Y3 — (3TH 1 x 12 =12) Very Short Answer Questions (Marks 1x12 = 12)

A : 2024-25

5 2 3 6
() X TRy D A1 A DI, Ife K+}’=L) g]ﬁ%ﬂ K-}’=[G _J =

. \ 3 2 3 6
Flndthevaluesuf}{andylfx+}f=[0 9} and x—y=L} 1]_

1 2 1 2
(i1) zﬂ%ﬂFL J a‘ri%WizA|=4|A|1fA=L Z]Ihenshnwthat|2A|=4|A!.
(i) IfE f(x)=-|x+ 1|+ 37 f(x) BT AferHaq 99 & —
If f(x)=- |x+ 1|+ 3, then the maximum value of f(x) is

(iv) &3¢ & f(x)=|cos x | §RT IR9IMRT B9 Tk Fddq B & |

State the condition for the function defined by f(x) = |cos x| to be a continuous function.

2 2
d:f BT A9 81T | lfy=}{lng_:!{?thentheva]uenfd f 1S
dx” ¢ dx”
(vi) Th g DI 3FSa1 0.7 WHI/AHUS DI SX ¥ g B JE1 &, 9 g1 DI GRS d gRad= ol <X il |

The radius of a circle is increasing at the rate of 0.7 cm/sec. Then the rate of change in the circumference of the circle

(v) 3afe y=x log,x dar

will be

m
, X 5 X m
(vii) 1= j[sm g B _2"}!”{ %1 A9 & | The value of 1= j{sin2 %—EDSE ;]d:{ IS
0
0

(viil) Th y=x2 TRIT XA y=4 3 &9 P &35 & |

The area between the curve y = x*? and the line y =4 is

dy 1+v° i
(ix) TP GBI — = }’2 $1 IS §el AT BN |
dx 1+x
dy 1+y*
Find the general solution of the differential equation di =1 y,, :
+Xx°

x) IR ART 3 IR ISR E B |31=2, [b|=3 3R 3.5=4 Tl |a—b| I B
If two vectors 3 and p, are such that |3|=2, [b|=3,and 3.5 =4, thenfind |a—b]|.
(xi) AR xi+2j+(z—1)k T 2i+(y+2)j+k T ARA LA X, Y, 2D a1 2|

If xi+ 2] +(z— 1)]T; and =21 + (y+ 2)] +k are equal vectors, then find the values of X, Y, and Z.

. 5 1 3 : o \
(xii) A 3R B UMl geA <1 7S € W8l P(A) = B P(AUB)=E @1 P(B)=P T4 TeAN WRER JUugsi] g dl P &1 9H
e |
| 3 : .
A and B are two events such that P (A) = o> P(AUB)= = and P(B) = P. If the events are mutually exclusive, then find

the value of P
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(TS 9T 2 3fD) (99 4 9 13 D)
(Each question 2 marks) (Questions 4 to 13)

g @INT 91 £ (x) =x2 §RT IRFIINT B f:R > R, 7 dl Tdd! & 3R 7 ADWVEH &7

Prove that the function f: R — R, defined by f(x) = x* is neither injective nor surjective.

Ylsg — q

5. Tﬂ“_'[zﬂﬂs(zsi"_léﬂ HT HIF Sd HIfY —

a = i
Find the value of tan | [2 335(251“ | EH .

a-b 2a+c ~ -1 5
THIHROT ra—b 3esd| 10 13 d a. b, c. dPr AN ST DT |

| ‘ | a—-b 2a+c B -1 5
Find the values of a, b, ¢, and d from the equation: Sp—b Beedl b0 i3

7. afg st (-2, 0), (0, 4) TG (0, k) aret BT &1 &3%d 4 T 3PS & af k BT A9 87
If the area of the triangle with vertices (-2, 0), (0, 4), and (0, k) is 4 square units, then find the value of k.
frfoRad g & k &1 99 3d SIg, a1fe ged Bed fAfde g w® Jaq &1

Find the value of k in the following question so that the given function is continuous at the specified point.

kcnsxj Irflc'{x;tf

£ (x) = 411—2}{ 2
3 . afy x = =~

2

d
9. Y =log(cos e di BT A ST DI |

Find the value of Y = log (cos e¥) di'
a Bl I8 ~gIdH HIF S DI 8s folg 8faRTal (1,2) H f(x)=x2+ax + | H UScd Bl FR=oR g€ & |

Find the minimum value of a for which the function f(x) = x* + ax + 1 is increasing in the interval (1, 2).

10.

cos2x —cos2a
i | dx s BT

COSX —COSsa

: cos2x —cos2a
Evaluate the 1ntegral:j oS x —cosa dx

Th y2=xVE@RI x=1,x=4 3R x-3& & 41 YH IqATY T &A%l ST DIfTg?

Find the area of the region bounded by the curve y*= x, the lines x = 1, x =4, and the x-axis in the first quadrant.

Aee (G+b) R (3-b) ¥ V TAP B IEAq ASG WA TG BIY & a=i+j+k, b=i+2]+3k 2

12.

13
Find a unit vector perpendicular to each of the vectors (a+b) and (a—b), where 3 = i+ ] + f(,, b=1+ 2] +3k
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s — ¥ ® /.
(YD 9 — 3 D) (Ue1 14 € 17 d&)
Section C (Each question 3 marks) (Questions 14 to 17) |

L L
4 4 4 4
14. I(x ;) dx DT A9 SIT1d $IIT | Evaluate the integral: I(K f) dx
X X
3dar OR
a  x 2 x
_[ﬂ \E+\E—xdx &1 AT S DIGIT | Evaluate the integral: '[”\E+ a-xd}{'
d
15. 3ddl HHATHNT lﬂg[ijﬂ?{”}’ faftre g« sma sifsg | faar gam & f& y=03afd x=0
41 OR

sgra TaRer veldx=| xe¥ +y? |dy, (y=0) &7 ga1 5@ S

d
Find the particular solution of the differential equation: lﬂg(ij = 3x +4y Given that y =0 when x=0.

X X

Find the solution of the differential equation: ye¥dx =| xe¥ +y* |dy, (y=0).

x-1 y-1 z-5

o X=l y=2d 2—3 ;
16, Tfe ¥@g = = B 3 3R ey : 5 TRER S gl dl k &7 919 317d HIfu |

X—l y—2 @3 4
3 9k 2 1 5
32dT OR

X=k ¥y—=iI &=3

If the lines

are perpendicular to each other, then find the value of k.

*2 Y222 3 dre o e 50 I AR

x+1 y+1 z+1
13T = = 3R
7 -0 1 1 -2
x+1 y+1 z+1 {jx—3_y—5_z—?
5 ! 1L =2 1°
17. Ud AT HHI 2000 THeR ATAD], 4000 HR ATcidh] 3R 6000 §h dTeidl BT dIH] B! © | GHSTIR &I IRIHAIY HH:

0.01, 0.03 3R 0.15 & | SATHd ATl (D)) H W TP THSATIRG & WIdl & | 39 fdd @ Ihex ITad el I Al

91 &7 An insurance company insures 2000 scooter drivers, 4000 car drivers, and 6000 truck drivers. The probabilities of

Find the shortest distance between the lines

accidentsare 0.01,0.03, and 0.15, respectively. One of the insured persons meets with an accident. What is the probabil-
ity that the person 1s a scooter driver?
3rdl OR

52 TN @I TSl A U Todl Tl STl & 39 G A & Ul fdhlel S € Sl 8¢ & U & @l Y 0] @l 3¢ 811 DI
gTRIdr a7 87

A card 1s drawn from a pack of 52 cards. Two cards are drawn from the remaining cards, which are found to be hearts.

What is the probability that the missing card is a heart?
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A : 2024-25

Yls — q
(IS I — 4 3D) (% 18 ¥ 20 dd)
Section D (Each question 4 marks) (Questions 18 to 20)
18. #M S I — Ilﬂgﬂiﬂxd?{ Evaluate: jlﬂgﬂlﬂﬂd?—"i
0 0
32dT OR
Vx© +1 [lt}ug(?:«-.‘:2 + 1)—21{}ng " Vx* +1|ilﬂg(?€2 + l)—Zlug}{]
I : dx &I |19 S1d x| Evaluate: I : dx .
X ¥

19. @, o |fee gHiaxe fA=fafed 2, & 9119 3 <g9a9 g3 1d S |
F=(1+)i+(t-2)j+B-20k3R =S+ Di+(2S-1)j-(2S+ 1)k
Find the shortest distance between the lines whose vector equations are given by: 7 = (1+t)1+(t-2)j+(3-2t)k and 7 =
(S+1)1+(2S-1)) - (2S+1)k

SR

X+3 -1 z+3 X +1 -4 z-5
& T X1 g & 72y BV S BIRE — g e i o YA

3 5 4 I 1 2
, . ‘ X+3 y-1 z+3 x+1 y-4 z-35
Find the angle between the pair of lines: T - % - 2 OR R T

20. ™ gRI 71 R G+ GHRIT Bl 8al DT — 9 IRl & 3iald
Solve the following linear programming problem graphically:

X+y<30
3x+y<90
x20, y=20
Z=4x+y Pl AHIH A9 STd DI |
Maximize: Z = 4x +y Subject to the constraints
3dr OR

arerEg fafr gmr = Raa grummE 99 1 &1 gd oIfoi — 99 sgaRiEn & sidtia Solve the following linear
programming problem graphically:

X+2y 210
3x+4y <24
x20, y=20

z=200x + 500y BT gcd qH S DI |
Minimize: Z =200x+500y Subject to the constraints:
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IrEEare! e difsd R 2
fasa: 0T (Mathematics)
HET — 12

gdenfefat & fore =y fAder -
GENERAL INSTRUCTION TO THE EXAMINEES :

1.

(1)

(1)

(111)

(1v)

gierelt HAYH U YeH U UR A Afarda: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.

T U oA a7 |

All the question are compulsory.

gD YT BT IR &1 T3 IR IRADT H &1 ford |

Write the answer to each question in the given answer book only.

S gedl # =aRe @Wve 2, J9 9l & SR Udh 91 Bl ford |

For questions having more than one part, the answers to those parts are to be written together in continuity.
g9 DI I o | qd Y &1 hHID Iy ford |

Write down the serial number of the question before attempting it.

yed U3 & 24l 9 3fUSH ®URl # B R & Ffe /R / fREmN 81 W 2= 9T & 939 &1 €1 |2l A |

If there 1s any error/differencc/Contradiction in Hindi & English versions of thc question paper, the question of Hindi

version should be treated valid.

999 HHIG 14 H 20 H a<Re fAdeg 2|

There are internal choices in Question No. 14 to 20,

Yl — 3
qEfdped) ¥eH (1 9 xviii) (I 994 — 1 3iP) 1 x 18 = 18
Ife f(x) = 3x ERT URATNRT B £ R —» R &I, I Hel SR & |
If f-R — R i1s a function defined by f(x) = 3x, then the correct answer is:
(a) fUdd! AT=BIEH & | fis one one and onto (2) f98US! 3AT=BTeS = | fis many one and onto
(c) R Tda! B only one one (4) 9 Tdha! 3R 5 ATEBTEd neither one one nor onto

E n _ n
COs {CDS?} T A9 81T — The value of €OS 1[305 ?} will be -

1 ?—ﬂ 2 E 3 E 4 E
= (3% () 5 @ 3

4 3 Y Z 4 3 y z

X 5 B 1 5 ﬁﬁx-quﬁé_ G = | 5 then the value of x-y 1s -
(1)5 (2) -5 (3) 3 (4) -3

[1 -1 5] 1 -1 5]
i D U AT e & T x BT A 87 ==t & 0 IS a symmetric matrix, then the value of x 1s?
> ox 3 5 x 3

(1)1 (2) -1

(3)2

(4) -2
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(vii) x=acos0, y=bsin® dl — SI1d &I — If x=acosO, y=DbsinB then find

grEmardt faera-100
3 -1 -2
(V) 0 0 =11 % &= &1 The value of

3 -5 0

(1)12 (2) <12

(1) -2x cos x? (2) 2x cos x
dy
dx

(1) Ecn’[e (2) Etane

a a

https://t.me/ShekhawatiMission100

3 -1 =2
0 0 -1
3 =5 0

IS -

(3) 18
(vi) f(x)=sin (x?) ®T aderal STd I | Find the derivative of f (x) = sin (x2).

(3] 2xcogx

(3)

(4)-18

(4) - 2x cosx

acotB btan®

qA : 2024-25

(viii) f(x)=x*-3x 2, dl Badq f &I IS &1 fd=g 8?7 If f(x) =x° - 3x, then the point of maximum of the function f is?

(1)1

X=l Y=g =S

(2) -1

(ix) Xl 3 -
2 1 3 2 -]
e 4 @) 1212 12

3 o ok
(1) f“_zj)

(x1) 5=f_23+]2 T gfRETT & — The magnitude of ﬁ:;—zj-p]:{ IS -

(1) 1/6

3

3~ A
(2) 5(1—21)

(2) 1

(3)0

A #1 fa® @29 g1 The direction cosines of the line

K=l y=3 &—3

2
T

(3)

1
3 5
(xii) T DI aret fHA rada GHeRv & fAaftre & # SuRaft W= =Rl o AT & —

3
— (4) None

NSV

(x) ﬁ:f_zj b Eﬂﬂﬁﬂl 3 SPhIs BT A & | The vector of 3 units in the direction of ﬁ:i_zj IS -

S 5 A AN
—=(1-2)) (4) %(i—z_j)

dare -

The number of arbitrary constants present in the particular solution of a differential equation of order three is -

(1)1

(xiv) f (x) = 4x3 - 6 ERT IRHAINT B9 & df £ &1 Ufderadas s s3I afe £(0) =3
The function defined by f (x) = 4x° - 6 then find the antiderivative of f1f ({{0)=3)
(1)x"+o6x+3

(xv) y=x|X| Xx-3FT Ud Pl x=-1TA x=13 9 &35 ¢ |
The area between the x-axis and the ordinates (x=-1) and (x=1) of (y=x | x|) 1s -

(3)2/3

(xvi) UHh U D 2 IR IBTeH GX B BT INT 91T AT M1 B Jiiddwar g |

The probability of getting the sum of the numbers as a prime number when a die is rolled 2 times 1s -

(1)0

(1) 15/36

(2) 2

(2) x"= 6x+3

(2)1/3

(2) 17/36

(2) i+ 3R i-]

(3)3
(xiii) AT 39 aret &1 fafa=1 |feer 87 Two vectors with the same direction are?

(1) i+] 3R 2i-] 3);9 _;

(4) 19 2}

(3)

(4) 4/3

(3) 14/36

(4) 16/36

G Scanned with OKEN Scanner



https://t.me/ShekhawatiMission100

JrEmaret firsra-100 | : 2024-25

(xvii) ¢ E 3R F ¥d= ¥cAN & dI 9d & | IfE and F are independent events then it is true that -
(1) P(EUF)=P(E)+P(F) (2) P(EnF)=P(E)P(F)
(3) EnF)=P(E)+P(F) (1) MEriF)=RF(E]=1{F)

(xvii) II%P(A):% gl ar P(A) &T A1 gl If P(A)=%:then the value of P(A) is -

(1) 1/3 (2)2/3 (3) 1/4 (4) None

2. Raa vl &1 qfid ®=1 — (3(® 1 x 6 = 6) Fill in the blanks (Marks 1x6 = 6)

= I 2 1
(i) cot [ > J X>1 H1 WRedd H9............ &1 The simplest form of cot '{ -
X" - %2 —
2 3 7 3
i) A= gl dMadj(A) BT AT = . B A= then the value of adj(A)1s ....................
I -4 ! | ]
dy 1+y? dy 1+y?
(i) IMTDT THIHRI Y = }’E HT AP € ................. & | The general solution of the differential equation Y = yj
dx 1+4x dx 1+x°
18 onsersnsinay
iv) afe & wo @ forv f(x,)>f(x,) 98 X; X, €eR @ f(xX) BT ... Wwad &Fm | If for any function f,
1 2
f(x,)>f(x,) where X; X, €R thenf(x)isa ... function.
(V) §.3 T b.h=0 8. Al f Bl A .. B GhAT 2| If @-3 = b-b=0, then the value of bcanbe ...................
3 dx v3 dx
(vi) 1[ 1352 HT Ao, &1 The value of J,.E 1S oo

3 ﬂﬁlmtknﬂtﬂm 999 : (3[®H 1 x 12 = 12) Very Short Answer Questions (Marks 1x12 = 12)

x> +3 x#0 ' 343 x=£0
(i) g s f(x) = | it x= (09X Fad el & | Prove that the functionf(x) = , 1s not continuous
= | i)
atx=0.
. L dy fproas oW y
(i) y+siny=cosx & dl ™ SIld X0 | If y + siny = cos X, then find A
X X

a1 23] 3 13 o [r23] 3 -3
(i) A=), 5 (OB _| o ,|FA2A-BEFIATT@ SN A=, 5 | |and B=|_, , , thenfind

the value of 2A - B.

(iv) U& B &1 &3%he Sid &I, ot Y (3, 8) (-4,2) (5, 1) 8 | Find the area of the triangle whose vertices are (3, 8),
(-4, 2),(5, 1).

(v) 875 P(2,3,0) @M Q(-1,-2, -4) I Aa arel Y@@vs pQ &7 fase |feer Sird &)1 | Find the directed vector of the

line segment PQ joining the points P(2, 3, 0) and Q(-1, -2, -4).

(vi) B f(x)=2x2-3x D o0 [AR=R SRTHE Bai9 811 &1 31=axTal 1T 671 | Find the interval for which the function f(x)
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= 2x° - 3x 1s a strictly decreasing function.

(vil) T B &FA%d H IR &I g% 39D 901 & A1Uel Td S Ife r=2cm 81| Find the rate of change of the area of

a circle with respect to its radius if r =2 cm.

(viii) Beld y=acosx+bsinx ¥V a, beR & oy aradel qHIHRT SITd &1 | Find the differential equation for the function

y=acos X+ bsinx, where Va, beR

(IX) X-31& B FHTR YT BT FHIHIVT S BRI Sl ol fa=g | ToiRd! = | Find the equation of the line parallel to the x-axis
and passing through the origin.

X ¥
(x) Ide %1 A9 S1d &)1 | Find the value of _[Td}‘i
e e

(xi) T x>+ y?=2 Dl &9%d S 01| Find the area of the circle x>+ y> = 2.
(xii) 52 T DI TSl # | Arg=3dT 91 yfoReng= f&g 2 &re 37 & 97 Midras a1 9iilsdr ira a1 |

Find the probability of drawing 2 red cards at random without replacement from a deck of 52 cards.

g — q
(UAP U9 2 3 D) (U9 4 9 13 OP)
(Each question 2 marks) (Questions 4 to 13)

4. F9= R, 99=99 R 39 UK IRAIMAT 8 R={(a. b):a<b} d g &= R Wdcd & W= FAHd 7Tl & |

The relation R 1s defined on the set R as R ={(a, b):a<b} . Prove that R is reflexive but not symmetric.

. - . .
= 1+ x° =1 '\J1+KE—I
5, lan N X# U 7 W=elom ®Y ST F9 | Find the simplest form of tan™ x %0,
’ X

6. TS 3 x43TPE Bl 7T BRI Forda 3q9q {771 YR & Ui €1 € a, = 2i-j. Construct a 3 x4 matrix whose elements
are obtained as follows: a, =21-].
7.  Tam=faRad IR A& &1 e HIRT — Solve the following system of equations:
2x+ 5y =1
Sx+2y=7
8. amawra [1,3]9 f(x)=2x-15x2+ 36x+ 1 & forv *Ruet S=9aq 9 FRugt =09 79 5ird a9 |
Find the absolute maximum and absolute minimum values for f(x) = 2x° - 15x* + 36x + 1 in the interval [1, 3].
9. (logx)©s* &I x & MU Addheial sitd dxi | Find the derivative of (log x) «s* with respect to x.

dE
10. y=500¢™+600 e™ &l <l Rig B d—§=49}*
Bc
d’y
Ify =500 e™ + 600 e, then prove that e 49y
X

1. d=2i+2j+3k b=—i+2]j+k AR ¢=3i+] TT ART ST ISR & f& d+ib,¢ & o9aq & Al ) B A MM
If a =2}+23+31}? E=_§+23+];: and E=3}+] are three vectors such that @+ Ab, ¢ is perpendicular to c, then find

the value of 3.

12, x=0Ud x=2q O g y=sinx I [ERT &3%al S &+ | Find the area bounded by the curve y =sin x, x =0, and

X=2T.
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1

1 |

jtan_ xd:{ L j‘tan_ Kd}{
13. : i &1 ATF =1 DI | Find the value nfﬂ T R
g — 9
(UAP U1 — 3 3AP) (Y91 14 9§ 17 D)
(Each question 3 marks) (Questions 14 to 17)

2
14. fdvg (-2, 3) ¥ T[ORA dlel UH T3 &1 GHIDRYT Sid B s &4l fa=g (x, y) R W @1 31 gqurd yf =

2x
Find the equation of the curve passing through the point (-2, 3) whose slope at any point (x, y) 1s y_g

AT OR

Dl FAHIDRIT xdy—}fd}{:\f‘xz +y? dx DI & FMQ B |

Solve the differential equation xdy — ydx = \j}cz +y? dx.

. c1-x Ty-14 z-3 T-71x _y—3_ 06—z .
15. P T HIH Sd dN| afe i'@'l'q 3 2p 9 =l 3p ] 5 UEY ofH &1 |
| B _ I-x Ty-14 z-3 T=Tx y=5 b7 |
Find the value of P if the lines 3 2p > and 3p I 5 are perpendicular.
SRAdT

RIg & fa=gati (1,-1,2) (3, 4,-2) ¥ Brax oM dretl ¥ f9=gaii (0, 3,2) 3R (3, 5, 6) | S dlel X&T & odd ¢ |
Prove that the line passing through the points (1, -1, 2) and (3, 4, -2) is perpendicular to the line passing through the points
(0,3,2)and (3, 5, 6)

16. jsin3 xcos’ x dX &1 H9 19 FH30 Evaluate Isin3 xcos® X dx

J2d1
Fi T
fsinx+cnsxdx fsinx+cn5:{dx
Y
*fsinZ}{ &l HIF STd eI | Evaluate - fsian

% %

17. U Hei2 H 5 ATl IR 5 Dlell S & | J1g2ddl U g APl Wil &, SHHT T Al R+ D 918 G herel § I o
Tl 8 | O Farel 70 3 3t 2 AR e o # 7@ 9 1l § 91 Sl A 9 TS ] Mdrell Ol & | gEN TG
I Tel BF ! ATl o1 &7

Anurn contains 5 red and 5 black balls. A ball 1s drawn at random, its color is noted, and then it 1s replaced in the urn. Two

more balls of the same color are also put in the urn and then a ball is drawn again. Find the probability that the second ball

drawn 1s red.
J=2(dT

U BIaTard 7 60 wiererg faemedf &8 o1, 40 gfdera 3iUsh o1 3k 20 fderd 1 IEeR Tgd £

U BT DI G281 AT WIIdl 7 |

(1) grifear s1d SIfSe & 98 9 af & ok 9 8 Sl & 3EeR Ugd! © |

(2) afe g8 f&Q) &1 3RgIR gl 28 d I 3AUSH BT IRIIR 4l g dlell BlF &I WfAHdl SiTd ST |
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In a hostel, 60% of the students read Hindi newspaper, 40% read English newspaper, and 20% read both newspapers. A

student 1s selected at random.
(1) Find the probability that she reads neither Hindi nor English newspaper.
(2) If she reads Hindi newspaper, find the probability that she also reads English newspaper.

Evsg —
(YD 99T — 4 D) (U7 18 ¥ 20 Od)
(Each question 4 marks) (Questions 18 to 20)
-1 l—}{ X 1 1_}{
tan *,[—— G HHIdHAH SATd H | Evaluate tan
1+x 1+ x
SRdT
T xdx . : T xdx
. T HIH STd DI | Evaluate .
1:|1+51r1:~{ 1:|1+51n:«t

x—8=y+19:z—10 s x—15:y+29=z—5
3 -16 7 3 8 -3
SiTd &1 | Find the equation of the line passing through the point (1, 2, -4) and perpendicular to the lines
x-8 y+19 z-10 x=15 y+29 z-5
T 46 g ™ g 8§ 5°

favg (1,2, -4) ¥ S drell AR 13l UR A Nl BT FHIHRT

3rorar
RGBT T =(1+2)—4K)+A(21+3)+6k) 3R 7=(31+3)-5k)+p(21+3)+6k) & d= AqH X AT BN |

Find the shortest distance between the lines 1 = (f + 2] = 412) + 1(2? + 3] + 61}) and T = (3? B 3] - Sfi) + u(zf + 33 + 61}) .
=1 STaRIEN & SIAd Z = -3x + 4y BT YATHIHIV HIFGTT — Minimize Z =-3x + 4y subject to the following constraints:
X+2y<8, 3x+2y<12, x=20, y=20
SRId]
= ARl & AT Z = -x + 2y BT ARHTHIBRU DIFSTT : Maximize Z =-x + 2y subject to the following constraints:
X223, X+y2), x+2y=26, y20
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